Svenska Bridgeférbundet
Simultan 2019-09-19

Partavling, 142 bord, 275 par. Antal brickor: 24. Medel: 3166.6. Frirond (*) ger egen procent.

Plac Par Poang
1 K14 43194
2 R11 4276.9
3 N14 42727
4 P6 4187.8
5 F24 4175.2
6 M1 41233
7 A2 4096.2
8 I8 4094.0
9 F16 4091.3
10 P12 4047.2
11 Q12 4046.0
12 F5 4040.7
13 Al0 4033.2
14 L2 4022.8
15 01 4022.0
16 C10 4004.9
17 D11 3990.8
18 P7 39784
19 D8 39634
20 018 3957.7
21 Q10 3933.9
22 K10 39185
23 G2 3896.1
24 C8 3889.1
25 M12 3876.5
26 E12 3869.2
27 F14 3867.7
28 C11 3847.4
29 G3 3830.1
30 G1 3816.8
31 J1 38124
32 F29 3789.4
33 N16 3771.8
34 N10 3769.1
35 06 3759.9
36 P25 3757.4
37 F15 37545
38 E5 37422
39 P3 3728.1
40 17 3721.9
41 M2 37148
42 R3 3709.5
43 M13 3709.1
44 Q1 3705.8
45 111 3699.5
46 017 3695.0
47 A6 3693.5
48 112 3683.3
49 F8 3671.2
50 R18 3667.8
51 D7 3662.8
52 R4 3635.1
53 07 3601.5
54 F9 35954
55 H6 3593.3
56 E1 3593.2
57 R6 3590.2
58 Q2 3587.6
59 K1 3585.8
60 L4 3585.3
61 J9 3581.2
62 B3 3576.8
63 H5 3541.8
64 R16 3535.3
65 J6 35334
66 H2 3528.2
67 P5 3526.5
68 D16 3503.9
69 E11 3494.0
70 E6 3473.9
71 K12 3464.0
72 F19 3463.2
73 Q8 34624
74 D5 3458.6
75 M14 3457.3
76 L7 34492
77 All 34432
78 08 34429
79 R8 34417
80 K6 3439.7
81 A3 34384
82 N8 3438.0
83 C15 3433.8
84 P13 3430.7

85 R1 3425.6

%

68.17
67.50
67.43
66.10
65.90
65.08
64.65
64.62
64.57
63.88
63.86
63.77
63.66
63.49
63.48
63.21
62.99
62.79
62.55
62.46
62.09
61.85
61.49
61.38
61.18
61.07
61.04
60.72
60.45
60.24
60.17
59.81
59.53
59.49
59.34
59.30
59.26
59.06
58.84
58.74
58.63
58.55
58.54
58.49
58.39
58.32
58.29
58.13
57.94
57.89
57.81
57.37
56.84
56.75
56.71
56.71
56.66
56.62
56.59
56.59
56.52
56.45
55.90
55.80
55.77
55.68
55.66
55.30
55.14
54.83
54.67
54.66
54.65
54.59
54.57
54.44
54.34
54.34
54.32
54.29
54.27
54.26
54.19
54.15
54.07

Namn

Hans Fimmerstad - Carl-Ake Frisk
Sture Mattsson - Sren Palmgren
Lars-O Carlsson - Ake Waldolf

Kent Hultén - Rolf Gustavsson

Mona Mattsson - Bengt Jonsson

Karl Andersson - Rolf Forsgren
Torbjérn Olsson - Michael Karlin
Orjan Jonsson - Johan Lundstrém

Bo Selander - Christina Gutenwik
Arnold Andersson - Gunnar Broberg
John-Ove Backlund - Ake Wikman
Kenneth Osterberg - Jan-Erik Larsson
Jan Sundberg - Claes Scott

Per-Arne Lindstrém - Mikael Melander
Glenn Johansson - Sven Larsson

Carl Bjork - Christer Hedborg

Erik Tornvall - Peter Ernmark

Thomas Hultgren - UIf Runze

Rune Félth - Agneta Edbergh
Margareta Olsson - Sven Olsson
Kerstin Forsman - Elsy Boman

Peter Sandorn - Tomas Pettersson
Carl-Johan Lindvall - Rolf Lindvall
Svante Hallén - Sven Landervik

Bjorn Agheim - Bjérn Hesthagen

Kaj Hjalmarsson - Bengt Sddergren
Per-Erik Pettersson - Lars-Ake Nilsson
Jan-Erik Uhrberg - Pelle Strémberg
Jan Bengtsson - Ulla-Britt Carlsson
Séren A Hansen - Zerny Géstasson
Olle Olsson - Eva Glans

Anders Nilsson - Mikael Edenklint

Per Hansson - Bengt-Olof Westmar
Ulla Leissner Hallberg - Birgitta Wohlin
Bengt Palmlund - Jan Nilsson

Gunvor Bengtsson - Bengt Bengtsson
Gert Fors - Ann-Charlotte Nordbjork
Jorgen Claesson - Anders Lindkvist
Thomas Nilsson - Tommy Oscarsson
Hans Lekberg - Jan Nothwarp

Frank Andersson - Ingvar Hansson
Christoffer Jarnestrom - Jacob Westerberg
Frode Gummesen - Odd-Roger Nielsen
Ake Lundberg - Anders Elfving

Bror Wahlberg - Anders Lindeberg
Margaretha Bengtsson - Sven-Ake Bengtsson
Anna Hallberg - Lena Danielsson
Kerstin Rénnquist - Inga-Lill Nilsson
Marianne Skovsted - Lisbeth Rosendahl
Nils Olsson - Lars-Goéran Lundin
Inga-Maj Askfelt - Eva Hagman

Britt Jarnestrom - Gunilla Dybvik

Bo Ahlberg - Lars Petersson

Rolf Svensson - Natale Bellan

Rolf Malm - Lisbeth Nilsson

Leif Eriksson - Kalle Hedin

Stina-Maja Pettersson - Torgny Svensson
Margit Hagglund - Rolf Andersson
Joakim Fryklund - Kjell Persson

Marja Ritzén - Vivianne Wernblom
Erling Lennartsson - Mats Olsson
Niclas Bjorkstrand - Souheil Kutieleh
Sven Barbus - Berit Samuelsson

Kaj Rothman - Jesper Zettergren
Folke Abrahamsson - Stig Larsson
Monica Karlsson - Lisbeth Engdahl
Soren Westling - Torleif Hagg

Ulla Skarberg - UIf Backman

Kjell Nordin - Kati Nordin

Arne Sjoberg - Arne Conradsson
Annica Karlsson - Bertil Strand

Anneli Jonsson - Anita Bergwall

Tina Olofsson - Berthold Ogren

Leif Malvefors - Gunnar Alexandersson
Jan-Erik Olsson - Lars Johansson

Bo Gullefors - Staffan Strindlund
Margareta Forsberg - Tommi Oberg
Lisbeth Skottke - Sonja Sérang
Anders Hansson - Tomas Deltin
Anitha Lampinen - Evy Esplund

Ingrid Skoglund - June Sandberg
Mats Persson - Carl-Uno Jansson
Yvonne Arvidsson - Annika Nilsson
Mona Kéreby - Bengt Kareby

Carina Nilsson - Vivi-Anne Hagstrom

MID
7647 7648
1503 60574
39470 93336
42086 53300
30608 30612
7543 13628
12371 13772
2207 61167
10057 6301
13331 7495
8964 37084
4700 593
10637 92794
3485 13137
50526 5660
55384 11610
52901 66827
28874 4967
10681 12217
14665 7891
3445 14440
10544 11286
63509 53634
80464 13030
65676 64109
16054 49886
10690 12667
17257 2501
28993 6327
78215 22687
7472 8552
13968 13725
45045 80254
88511 57889
40010 44462
19715 19714
16982 11212
28214 94195
65932 53999
51106 14317
91300 24102
1977 88822
nor31559 nor35160

3379 47451
29442 24108
91599 91600
80476 24116
12485 2211
16230 30600
1517 1523
15376 90661
29985 17683
64183 37162
26039 26026
633 629

8 60794
6721 34398
46273 52457
5079 7743
31389 18495
7457 9337
11975 59639
630 22904
1011 12830
30998 24367
13893 10154
27606 12267
15888 82648
13960 14434
53920 151
88386 3919
33300 94347
29011 63347
24241 8881
7538 50647
36345 3486
57337 3818
50650 49891
47032 16058
40928 33929
3419 37801
17322 13802
42199 36967
26972 26973
9900 89622

Klubb

Mariestads BS

Ljungsbro BK - BK S:t Erik
Sallskapet, Ronneby
AsalFrillesds BK
Hassleholms BK

Tanums BK

Améls BS

Nynashamns BK
Hassleholms BK
Asa/Frillesds BK
Ornskéldsviks BA
Hassleholms BK

Billeruds BK

Skogs BK

Ahus BK

BK Allians, Halmstad
Béastad BK - Vastra Bjare BK
Asal/Frillesés BK

Vastra Bjare BK

Ahus BK

Ornskoldsviks BA

BK Ruter

Hastveda BK - Osby BK
BK Allians, Halmstad
Strémstads BK

Séaters BK

Hassleholms BK

Harplinge BK

Hastveda BK

Hastveda BK

Orust BK - Tjorns BK
Bjarnums BK - Hassleholms BK
Karlshamns BK

Saéllskapet, Ronneby

Ahus BK

BK Albrekts

Hassleholms BK - Bjarnums BK
Hedemora BS - Saters BK
Asal/Frillesés BK
Nynashamns BK
Stromstads BK

Overums BK

BK Tempo

Ornskéldsviks BA
Nynéshamns BK - BK S:t Erik
Ahus BK

Amals BS

Nynéshamns BK
Hassleholms BK

Gamleby BK

Munka Ljungby BS - Laholms BK
Vasterviks BK

Ahus BK

Hassleholms BK

IFK Karlskrona

Folkare BK

Overums BK
Ornskoldsviks BA

Bohus Nations BS - BK Ruter
Sollefted BK

Orust BK

Malungs BK - Ej medlem
IFK Karlskrona - Bridgeklubben Karlskrona
Overums BK

Orust BK

Bridgeklubben Karlskrona - RD Trivselbridge
BK Albrekts

Laholms BK

Hedemora BS

Hedemora BS - Saters BK
BK Ruter

Héassleholms BK
Ornskoldsviks BA
Hasslovs BK - Laholms BK
Tanums BK

Sollefted BK - Skogs BK
Billeruds BK

Ahus BK

Overums BK - Gamleby BK
BK Ruter

Hammaro BK

Saéllskapet, Ronneby

BK Allians, Halmstad
Asa/Frillesés BK

Overums BK
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115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160
161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176
177

3423.4
3420.9
3413.4
3406.5
3405.9
3403.1
3398.9
3398.4
3398.2
3386.9
3382.8
3381.8
3380.4
3376.1
3374.7
3373.8
3370.2
3368.9
3358.0
3348.8
3345.6
3345.1
3344.8
3338.9
3335.8
3327.9
3325.4
3312.0
3304.2
3302.0
3293.9
3287.8
3286.2
32711
3270.9
3266.5
3266.2
3262.0
3258.7
32555
3238.1
3232.0
3226.9
3216.2
3214.3
3211.3
3208.5
3200.4
3199.3
3187.8
3180.6
3179.8
3176.1
3175.7
3170.2
3167.5
3166.6
3160.1
3151.6
31445
3142.2
3138.2
3129.7
31255
3120.7
31175
3110.1
3108.9
3103.0
3099.3
3085.7
3085.0
3083.0
3074.3
3055.9
3054.8
3053.9
3045.2
3042.1
3035.2
3024.6
3023.1
3017.5
3017.1
3015.6
3003.0
2995.2
2991.9
2982.5
2977.9
2974.5
2968.0

54.03
53.99
53.87
53.76
53.75
53.71
53.64
53.64
53.63
53.46
53.39
53.37
53.35
53.28
53.26
53.25
53.19
53.17
53.00
52.85
52.80
52.79
52.79
52.70
52.65
52.52
52.48
52.27
52.15
52.12
51.99
51.89
51.87
51.63
51.62
51.55
51.55
51.48
51.43
51.38
51.11
51.01
50.93
50.76
50.73
50.68
50.64
50.51
50.49
50.31
50.20
50.19
50.13
50.12
50.03
49.99
49.98
49.88
49.74
49.63
49.59
49.53
49.40
49.33
49.25
49.20
49.09
49.07
48.97
48.92
48.70
48.69
48.66
48.52
48.23
48.21
48.20
48.06
48.01
47.90
47.74
47.71
47.62
47.62
47.59
47.40
47.27
47.22
47.07
47.00
46.95
46.84

Inger Adregard - Lena Grevesmuhl Ravik
Kjell Friborg - Gunnar Bertilsson
Elisabeth Olsson - Mats Sandequist
Peter Krug - Anders Norin

Jan Nyqvist - Jan-Roger Lilja

Agnete Friestedt - Birgitta Carlsson
Elisabeth Olsson - Sten Olsson

David Eriksson - Fadi Shoshara

Allan Johansson - Arne Andersson

UIf Eriksson - Nils-Erik Ostman

Gorel Upphoff - Margareta Pettersson

Bo Johansson - Roger Hultén

Anders Dellien - Lennart Johansson
Dennis Svensson - Carl-Johan Flingstrom
Kerstin Back - Lena Voergaard

Lars Jarskog - Jan-Erik Eriksson

Erland Eklund - Inger Kjellberg

Ann-Christin Johansson - Claes-Goéran Johansson

Jan Holm - Peter Wester

Anders Forsander - Agneta Aicardi-Holmstrém
Cay Krug - Hans-Goran Larsson
Monica Andersson - Britt Kurtsson
Eddie Eriksson - Kjell Larsson

Sune Gustafsson - Erik Fredriksson
Lena Greenwood - May Ericson

Eva Lundgren - Olle Persson

Bert Wahlin - Anders Svensson

Christer Magnusson - Goéran Magnusson
Rolf Nilsson - Karin Rosenkvist

Arne Carlsson - Jonny Stark

Bertil Asplund - Mats Lindgren

Anders Svensson - Peter Nielsen

Bengt Svensson - Ingvar Hansson
Tomas Gustavsson - Gunnel Pettersson
Marianne Berglund - Inga Frojdh

Willy Hagstrom - Carl-Gustaf Sunnergren
Torgny Svensson - Hans Lindman
Birgitta Franzén - Gun-Britt Olsson

Aina Karlsson - Villy Karlsson

Monica Jorgensen - Bengt Bengtsson
Shirley Persson - Ingemar Andersson
Ake Stahl - Gerty Persson

Jorgen Wangnell - Nils-Arne Hagelin
Evy Westlund - Birgitta Spjut

Kerstin Wallin - Anders Eriksson

Jens Ahslund - Ulrik Starck

Ingrid Hansson - Ann-Christin Andersson
Christer Olsson - Lena Olsson

Lars Ranbro - Karin Ranbro

Majvor Norberg - Birgitta Lindqvist

Bo Ingmarsson - Eivar Carlsson

Bernt Gustafsson - Gdsta Andrén

Harry Lundin - Jarl Lofstrand

Per Myrbeck - Michael Broad
Margaretha Forslund - Ingrid Muhl
Anders Ekstrém - Bjorn Pedersen
Margit Tallberg - Torsten Bengtsson
Tommy Abrahamsson - Ing-Britt Abrahamsson
Kerstin Engqvist - Inge Larsson

Torsten Victorin - Birgitta Edvall
Veronica Gustafsson - Olof Hossner
Jan Gustavsson - b Jensen

Kenneth Jérgensen - Ronny Frost

Aina Ingvarsson - Berit Svensson

Bernt Johansson - Jonas Ammedalen
Helén Vallgren - Anita Gunnarsson
Greger Adolfsson - Kenneth Carlsson
Peter Raudszus - Lisbeth Nilsson

Erling Hagglund - Gunilla Magnusson
Erik Franzen - Mats Hall

Ulla Eliasson - Leif Arbin

Johnny Holmen - Rolf Kjaerstad

Silva Larsson - Géran Johansson
Gunvor Engkvist - Ingrid Vahakuopus
Barbro Gimbergsson - Karl-Axel Gimbergsson
Sven-Olof Gardman - Lambert Johannesson
Jan-Inge Troedsson - Ronny Upphoff
Jette Hultén - Tommy Nilsson

Tomas Dahl - Kerstin Persson

Tyrone Carlsson - Kerstin Johansson
Rogert Deiwall - Tomas Andersson
Goran Séderqvist - Ase Salwin

Lennart Olsson - Stig Karlsson

Ingrid Karlsson - Christina Stromberg
Rolf Bergqvist - Lars-Bertil Alkstrand
Simon Hedstrom - Urban Lindberg
Bjorn Inge Andersson - Kaj Johansson
Kenneth Engvall - Eva-Lotta Engberg
Benny Nilsson - Matts Idoffsson

Stanley Lysell - Anders Ohlsson

Rune Gustavsson - Laila Gustavsson
Tommy Norlin - Lennart Roos

89066
25838
42078
14201
34441
13159
81501
33720
18392
14071
4011
17784
7117
84029
8300
88855
88914
65257

43890
14200
42915
57223
88664
88067
776
41515
782
4653
26296
11289
17617
695
60226
44550
52886
59088
21831
13178
25753
25455
34385
43664
31647
46448
88230
36366
36649
88905
39801
91539
88076
8275
698
55912
11674
30623
49166
63547
57031
38980
35158
42891
28868
9164
37703
84684
6395
46274

84057
67748
45371
50357
55801
261
13420
45147
40774
61128
23284
94192
57888
83109
34434
83326
37467
65523
48766
88649
26540
63227

52721
30999
617
8191
43983
51493
81503
64841
18451
12388
35974
45148
13145
26763
14211
30073
56341
35412

50831
26744
38921
6503
7561
27086
43665
39152
1123
10318
461
7759
20695
61256
42705
44551
55114
53026
79542
2204
33301
26762
33180
63516
37246
21260
46148
59583
36656
88906
34534
45035
4271
37156
78891
55918
14134
26031
43481
63546
57030
31168
40257
30618
89123
80028
37701
13421
11516
55245
148
32824
59674
48353
59882
55802
48
2500
43982
11656
12319
46912
25675
57887
58178
38056
636
34980
65525
61185
30031
38477
63228

Hassleholms BK

Gamleby BK

Asal/Frilless BK - Kungsbacka BS
Harplinge BK
Asa/Frillesas BK
Stromstads BK

Ahus BK

BK Dalom

Tjorns BK

Skogs BK

Harplinge BK
AsalFrilles&s BK

Tjorns BK - Ljungskile BK
Varo BK

Sollefted BK

Hassleholms BK

Hastveda BK

Héassleholms BK - Ho6rs BK
Hedemora BS

Hasslovs BK - Vastra Bjare BK
Harplinge BK

Ahus BK

Hassleholms BK
Stromstads BK
AsalFrillesés BK
Séllskapet, Ronneby
Héassleholms BK
Bridgeklubben Karlskrona
Hastveda BK

Osby BK

BK Ruter

Gamleby BK

Sallskapet, Ronneby
Gamleby BK

Anus BK

Overums BK - Helgenés BK
BK Allians, Halmstad - Kvibille BS
Bridgeklubben Karlskrona
Nynashamns BK
Hassleholms Dambridgeklubb - Hassleholms BK
Orust BK

Ahus BK

Hastveda BK

Hedemora BS

Sollefted BK

Hasslovs BK

Hassleholms BK
Sallskapet, Ronneby
Hastveda BK

Nynashamns BK

Laholms BK - Osby BK
AsalFrillesés BK

Skogs BK

Sallskapet, Ronneby
AsalFrillesas BK
Valdemarsviks BK - Filbyter Bridge
Héssleholms BK
Ornskoldsviks BA
Nynashamns BK

Sollefted BK

Kungsbacka BS

Hasslovs BK - Laholms BK
Héassleholms BK
Bridgeklubben Karlskrona
Orust BK

BK Ruter

Overums BK

Hastveda BK
Ornskdldsviks BA
Hedemora BS - Borlange BK
Séllskapet, Ronneby
Stromstads BK
Bridgeklubben Karlskrona
Héassleholms BK
Ornskdldsviks BA

Folkare BK - Saters BK
Harplinge BK
AsalFrilles&s BK

Frovi BK - BK Ruter
Séllskapet, Ronneby

BK Dalom

Séters BK

Séllskapet, Ronneby
Skogs BK

AsalFrillesés BK

IFK Karlskrona

Harplinge BK - BK Allians, Halmstad
Harplinge BK

Laholms BK

Stromstads BK

Billeruds BK

Docksta BTK
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178
179
180
181
182
183
184
185
186
187
188
189
190
191
192
193
194
195
196
197
198
199
200
201
202
203
204
205
206
207
208
209
210
211
212
213
214
215
216
217
218
219
220
221
222
223
224
225
226
227
228
229
230
231
232
233
234
235
236
237
238
239
240
241
242
243
244
245
246
247
248
249
250
251
252
253
254
255
256
257
258
259
260
261
262
263
264
265
266
267
268
269

L9 2967.2
D6 2960.2
C17 2959.7
M11 2958.0
D17 2956.3
Q9 2954.0
K5 2952.9
A8  2950.6
N1 2949.3
G4 29483
D12 2945.4
O11 2944.7
C4 2929.4
P20 2923.7
R22 2923.3
J8  2921.6
N15 2914.0
P9 2902.1
F11 2883.6
D2 2866.5
N1l 2862.2
D14 2862.2
G6 2859.0
Cl4 2853.4
K4 2851.8
H3 2850.0
11 28482
014 2812.3
P23 2811.9
R15 2797.4
N7 2777.8
RO 2776.9
F13 2772.1
A5 27716
D1 2765.1
R5 2755.1
P11 2740.3
F1 27382
A4 27330
D9 2731.7
G13 2719.8
L10 2697.1
F3 26826
Q5 2680.1
F6 2677.3
B2 2672.2
C6 2658.8
M4 26555
Q7 2637.4
5 26121
09 2610.6
C9 2608.6
L11 2603.3
M6 2598.5
G12 2594.7
E9 2587.9
M5 2587.8
R19 2580.2
K3 2579.5
Q13 2572.6
M7 2560.7
P22 2548.6
19 2546.6
04 2545.1
015 2544.9
P24 2539.9
F10 2523.8
N3 2516.4
R17 2515.9
Al 2507.8
N9 2505.9
F2 25035
E3 2495.8
D4 2495.7
M15 2487.7
F22 2487.6
Q11 2485.2
K8 2483.3
F17 2455.6
016 2432.1
J4 24132
R2 2409.5
H7 2381.3
L14 2359.4
C16 2320.4
P8 2316.3
J10 2280.8
P18 2276.6
010 2276.4
F30 22288
P14 2186.5
A9 21836

46.83
46.72
46.71
46.68
46.66
46.62
46.60
46.57
46.55
46.53
46.49
46.48
46.23
46.14
46.14
46.11
45.99
45.80
45.51
45.24
45.17
45.17
45.12
45.03
45.01
44.98
44.95
44.39
44.38
44.15
43.84
43.83
43.75
43.74
43.64
43.48
43.25
43.22
43.14
43.11
42.93
42.57
42.34
42.30
42.26
42.17
41.96
41.91
41.63
41.23
41.20
41.17
41.09
41.01
40.95
40.84
40.84
40.72
40.71
40.60
40.42
40.22
40.19
40.17
40.17
40.09
39.83
39.72
39.71
39.58
39.55
39.51
39.39
39.39
39.26
39.26
39.22
39.19
38.76
38.39
38.09
38.03
37.58
37.24
36.62
36.56
36.00
35.93
35.93
35.18
34.51
34.46

Tommy Vallin - Tommy Sjélund

Kerstin Trydell - Anders Trydell

Marita Christiansson - Gunnel Johansson
Agneta Johansson - Ulla Soérqvist
Oyvind Nes - Kerstin Kristiansson
Sigvard Burland - Karin Bergstrém
Sigbritt Tibblin - Gun Pettersson
Lennart Rudander - Hakan Schullstrom
Hanne Eriksson - Birgitta Hansson
Peter Bengtsson - Rikard Karlsson
Maria Andreasson - Dan Andersson
Anita Davidsson - Christina Theander
Lennart Lassagard - Torsten Karlsson
Paula Andréasson - Roland Andréasson
Kenneth Cederl6f - Krister Retzman
Olle Kimfalk - Tommy Gyllin

Barbro Sandin - Birgitta Strand

Hasse Olofsson - Rolf Arvidsson

Eva Berlin - Marie-Louise Lilja

Boris Larsson - Harald Nilsson

Lennart Fransson - Marie-Louise Alm
Kenneth Augustsson - Kurt Hedberg
Hans Skoug - Sven-Runo Ericsson
Jorgen Svensson - Inger Ostenson-Tréaff
Leif Claesson - Hans Stahlberg
Ingemar Ohlsson - Ingemar Ltz
Ingegerd Lindbladh - Christina Borgmalm
Anders Larsson - Kenneth Andersson
Claes-Goran Ahren - Anna Ahren
Staffan Nilsson - Lars Ohlman

Inger Rosenstrom - Thomas Rosenstrom
Kent Lundstrém - Mattias Forss

Ulla Evertsson - Solveig Wahlstrom
Bengt Lundberg - Irene Lundberg
Torbjérn Svantesson - Bengt Johansson
Jan-Erik Sandberg - Bo Ingelsson
Hans Kjellberg - Lyona Besserer

Bo Ceder - Monica Hassel

Eddy Huber - Ingrid Andersson

Ingvar Hansson - Goran Jansson

Elsa Duvborn - Margaretha Ahlgren
Olle Andersson - Kjell Vestin

Majvi Adamsson - Evalena Nilsson
Ingrid Sundgren - Eva Eriksson

Ake Karvegard - Inger Nyberg

Vladan Vucetic - Tewelde Okbey
Bengt Ove Olofsson - Lena Andersson
Mona Andersson - Inger Olsson

Ann Ingberg - Karl Ingberg

Brita Lagerstrém - Karin Wiberg

Hans Fjelner - Tove Fjelner

Maj-Britt Wester - Eva Andersson
Hans Olofsson - Asa Wallin

Gerd Lysell - Rose-Marie Antonsson
Christer Evertsson - Ing-Britt Fredriksson
Bo Lundqvist - Marianne Lundqvist
Ingvar Adamsson - Sven Andersson
Ake Sjostrand - Torvald Turesson
Jorgen Jansson - Eva Rittsel

Ingrid Gidlund - Elvy Nordin

Kerstin Olsén - Pernilla Elgestal

Lena Ljungqyvist - Irene Karlsson

Jan Norlin - Ake Osterberg

Sven-Erik Nilsson - Mats Molin

Gudrun Sandgren - Jan-Erik Sandgren
Astrid Borjesson - Laila Ostberg

Britt Holmberg - Brita Huldberg
Nils-Arne Karlsson - Anne Alfredsson
Kjell Fagerstrom - Agneta Fagerstrom
Lars Hansson - Monica Ehrle-Arne
Jeanette Karlsson - Ulf Lundin

Lars Tegérd - Stig Akesson

Bibbi Bergkvist - Krister Apple

Christin Larsson - Solveig Svensson
Anna-Lena Norrbohm - Peter Norrbohm
Josefine Bellan - Anna P- Johansson
Birgitta Fahlgren - Margareta Halldal
Sara Andersson - Birgitta Frisk

Kjell Dahlman - Jan Peper

Christina Fredriksson - Pia Edlind
MajBritt Olsson - Mats Andersson

Bert Hagman - Lars Lindstrom

Berit Johansson - Gunilla Lindgren
Roland Eriksson - Jan-Uno Norlén
Margreth Gustavsson - Elsie Blomqvist
Gunvor Lindegren - Birgit Hedman
Georg Olsson - Paul Ohman

Rune Josefsson - Bjérn Karlsson
Ella-May Akerfeldt - Sonja Nilsson
Bengt Linder - Anna-Lena Melin Linder
Inger Strandahl - Kerstin Johansson
Marianne Olsson - Vera Kadhammar

65491
48769
84603
41908
67027
49386
39473
11237
57898
47053
61184
54938
7312
46418
17786
84905
93331
42072
30604
12220
39463
92791
63590
7313
5762
19479
39799
65887
55900
88506
48483
85082
27279
46664
92782
91445
38059
30613
9080
64031
19081
26491
30616
47455
59636
59642
35966
7542
63173
85182
62523
39690
20860
88654
56339
60420
35931
86936
58391
53817
50627
39612
32879
60113
41976
46651
59590
34803
83397
10626
34809
61259
32718
93706
62226
26028
47453
64013
81063
57586
45074
44374
39811
86772
55996
88069
26438
66599
59927
13228
33847
58180

63184
54429
17339
67260
63262
49385
27562
11272
43809
46839
5432
54940
91428
46419
89581
13152
57902
46420
30601
43856
28788
59005
63517
89395
7742
85133
85178
65881
55899
11919
48484
87222
6821
46668
91542
64777
38058
52710
10615
91543
66543
49439
36375
53815
59587
59641
35967
92887
63172
85183
62524
45475
84926
88657
56343
60419
41907
93758
44157
63177
50622
30903
32880
60112
41977
29578
36371
610
83395
34568
57386
45382
25676
91544
62227
65253
53814
79400
88216
55040
27014
79635
86988
65492
55992
85294
91004
49595
60143
10869
52562
10560

Skogs BK

Laholms BK

Harplinge BK
Stromstads BK
Laholms BK
Ornskoldsviks BA

BK Ruter

Billeruds BK - Amals BS
Sallskapet, Ronneby
Kristianstads BK
Laholms BK - Munka Ljungby BS
Ahus BK

Harplinge BK
Asa/Frillesds BK
Helgenas BK - Overums BK
Brastads BS

Séllskapet, Ronneby
Asal/Frillesds BK
Hassleholms BK

Vastra Bjare BK
Sallskapet, Ronneby
Laholms BK

Hastveda BK

BK Allians, Halmstad
BK Ruter

Bridgeklubben Karlskrona
Nynashamns BK

Ahus BK

Asa/Frillesés BK
Vasterviks BK - Overums BK
Séllskapet, Ronneby
Overums BK
Hassleholms BK
Billeruds BK

Hasslovs BK - Laholms BK
Gamleby BK
Asa/Frilles&s BK
Hassleholms BK

Améls BS - Billeruds BK
Hasslovs BK

Hastveda BK

Skogs BK - Sollefted BK
Héassleholms BK
Ornskéldsviks BA
Hassleholms BK

BK Dalom

Harplinge BK

Tanums BK
Ornskéldsviks BA
Nynashamns BK

Ahus BK

SPF Kvarnens BK - BK Allians, Halmstad
Skogs BK

Strémstads BK
Hastveda BK

Séaters BK

Strémstads BK
Gamleby BK

BK Ruter

Ornskoldsviks BA
Strémstads BK
Asa/Frillesas BK
Nynéshamns BK

Ahus BK

Ahus BK

Asal/Frillesds BK
Hassleholms BK
Séllskapet, Ronneby
Gamleby BK

Billeruds BK

Séllskapet, Ronneby
Hassleholms BK
Hedemora BS

Laholms BK
Strémstads BK
Héassleholms BK
Ornskéldsviks BA
Mariestads BS

Pri-Bri 1936 - Hassleholms BK
Ahus BK

Orust BK

Gamleby BK
Bridgeklubben Karlskrona
Skogs BK

BK Allians, Halmstad
Asa/Frilles&s BK

Orust BK

Asa/Frilles&s BK

Ahus BK

Hassleholms BK
Asa/Frilles&s BK
Billeruds BK
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270 G5 2175.7 34.34 Siv Adel - Birgitta Olofsson 56338 64811  Hastveda BK

271 K7 2155.2 34.02 Ewa Smedberg - Ann-Britt Henningson 4536 88385  Mariestads BS
272 R21 2131.7 33.64 Gun-Britt Rindstal - Alexander Nilsson 7974 67527  Overums BK
273 E10 2009.0 31.71 Joakim Nilsson - Rolf Almgren 37245 155 Séters BK
274 F21 1967.4 31.05 Roland Bjorkqvist - Per-Arne Andersson 52708 52707  Hassleholms BK
275 14 1819.9 28.72 Anders Sabom - Ingemar Lundell 63633 63625 Nynashamns BK
1 & KD2 Bésta kontrakt 2 4986 Bésta kontrakt 3 49 Bésta kontrakt
Nord vE105 ANT N =430 Ost v 64 ANT O =-430 Syd v EKn654 44 S =130
Ingen + Kn93 NS ¢ EKn2 ov + D732
+KD74 & ¢ v & NT #Kn10543 & ¢ v & NT #EKS8 & ¢ v & NT
4 Knl108 4 E95 N 109 7 9 10 4D10432 #4EK N4 3232 « KD 4Kn87653 N 109 8 7 8
v9 vKKn87643 S 9 9 6 8 10 vKKn72 983 S43333 vK9732 D8 S 109 8 7 8
+D8752 ¢ 10 0346 33 + KD7 4 10854 O 8 10101010 ¢ Kn654 ¢ E8 0334605
#8652 &#Knl0 V 346 33 &E #KD62 V 9 10101010 &Kn7 D105 V33565
47643 & Kn75 « E1042
vD2 vED105 v10
+ EK64 4963 + K109
#E93 987 #96432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
J7 J8 4vyDO-4 ¢A 800 2620 20| J2 J4 4e V-2 v4 100 259.0 50| E1 E3 2¢DO-4 &K 1100 264.0 0.0
K12 K7 3vyDO-4 ¢A 800 2620 20| Q2 Q5 4a4V-2 #J 100 259.0 50| E7 E1I0 2vDV-3 #A 800 2610 3.0
M15 M6 4vDO-4 ¢A 800 2620 2.0| P3 P18 44 V-2 v4 100 259.0 5.0|P15 P26 34DO-3 ¥T 800 261.0 3.0
H3 H6 4vDO-3 ¢A 500 2540 10.0( C6 C16 3NO-2 vT 100 259.0 5.0|D13 D2 3NS+1 v2 430 258.0 6.0
R4 R19 4¢vDO-3 ¢A 500 2540 10.0| O6 016 3N O -2 «7 100 259.0 5.0 C9 Cl14 2v V-4 49 400 256.0 8.0
F5 F20 3¥yDO-3 ¢K 500 2540 10.0|R11 R12 6N O -2 9 100 259.0 50| M1 M16 2v V-3 #A 300 250.0 14.0
I8 16 49yDO-3 ¢A 500 2540 10.0| G2 G5 44 V-1 v4 50 239.0 25.0| L5 L9 34 0O-3 vT 300 250.0 14.0
R9 R14 3vyDO-3 K 500 254.0 100| B3 B2 44 V-1 48 50 239.0 250 K9 K14 2v V-3 «A 300 250.0 14.0
G2 G5 3NN+3 vJ 490 2480 16.0| R3 R20 4v V-1 #J 50 239.0 25.0( 09 014 34 O-3 vT 300 250.0 14.0
Q2 Q5 3NN+2 v7 460 2420 22.0| E5 E10 4v V-1 ) 50 239.0 25.0(F12 F24 44 O-3 vT 300 250.0 14.0
P7 P12 3NN+2 v6 460 2420 22.0| L6 L11 3NO-1 #A 50 239.0 25.0( O1 O12 34 O-2 vT 200 2270 37.0
G8 G14 3NN+2 vJ 460 2420 220| C7 C3 3NO-1 3 50 239.0 25.0( H2 H4 34 O-2 vT 200 2270 37.0
M9 M4 3NN+2 aA 460 242.0 220| O7 O3 44 V-1 ¢A 50 239.0 25.0( G3 G6 34 O-2 vT 200 2270 37.0
A10 A5 3NN+2 v6 460 2420 22.0( M8 M1l 44 V-1 #J 50 239.0 25.0( R4 R21 34 O-2 vT 200 2270 37.0
R11 R12 44 N+1 T 450 236.0 28.0|C10 C5 4v V-1 #5 50 239.0 25.0( N8 N4 24 O-2 vT 200 2270 37.0
H2 H4 3NN+1 v7 430 1980 66.0|E1ll E4 44 V-1 4 50 239.0 25.0( J9 J1 2vV-2 «K 200 227.0 37.0
12 111 3NN+1 &J 430 198.0 66.0|M14 M7 4a V-1 «J 50 239.0 25.0(Cl11 C6 34 O-2 vT 200 2270 37.0
K2 K5 3NN+1 v6 430 198.0 66.0|P16 P2 44 V-1 #4 50 239.0 25.0(N11 N6 34 O-2 ¢+K 200 227.0 37.0
B3 B2 3NN+1 ¢3 430 198.0 66.0|R18 R5 44 V-1 49 50 239.0 25.0(L12 L3 24 O-2 vT 200 2270 37.0
B4 Bl 4ANN-= v7 430 1980 66.0|/R21 R2 4v V-1 #J 50 239.0 25.0(K13 K2 24 O-2 vT 200 2270 37.0
K4 K6 3NN+1 v6 430 1980 66.0| Q4 Q6 34 V= &7 -140 217.0 47.0 (M13 M2 2v O-2 #A 200 227.0 37.0
Q4 Q6 3NN+1 &J 430 1980 66.0| P6 P24 1a V+2 v6 -140 217.0 47.0|C15 C3 24 O-2 9 200 227.0 37.0
C6 C16 3NN+1 vK 430 198.0 66.0(A10 A5 24 V+1 46 -140 217.0 47.0(N15 N3 34 O-2 vT 200 2270 37.0
F6 F3 3NN+1 v6 430 1980 66.0 (K12 K7 24 V+1 &J -140 2170 47.0|R16 R9 24DO-1 T 200 2270 37.0
L6 L11 3NN+1 v6 430 198.0 66.0|Q12 Q7 24 V+1 #J -140 217.0 47.0(018 O5 24 O-2 vT 200 2270 37.0
N6 N16 3NN+1 #J 430 1980 66.0(D18 D4 1a V+2 &3 -140 217.0 47.0|F19 F27 1INV -2 v4 200 2270 37.0
06 016 3NN+1 v3 430 198.0 66.0(F19 F21 34 V= #J -140 217.0 47.0 |F20 F22 24 O-2 42 200 227.0 37.0
P6 P24 3NN+1 ¢3 430 1980 66.0|P26 P14 14 V+2 v6 -140 217.0 47.0|F26 F8 34 O-2 vT 200 2270 37.0
H7 H8 3NN+1 &5 430 198.0 660 G4 G6 14 V+3 ¢6 -170 203.0 61.0| Q3 Q6 INS+3 ¢5 180 208.0 56.0
N7 N3 3NN+1 K 430 1980 66.0( F9 F10 24 V+2 v6 -170 2030 61.0| G1 G8 INS+2 6 150 200.0 64.0
D9 D17 3NN+1 v6 430 198.0 66.0( 110 I5 2¢v»V+2 ¢2 -170 203.0 61.0| B3 B2 2¢ N+3 45 150 200.0 64.0
F9 F10 3NN+1 ¢8 430 198.0 66.0(N10 N5 3v V+1 &5 -170 203.0 61.0| E4 E13 2NS+1 &K 150 200.0 64.0
J9 J1 3NN+1 &T 430 1980 66.0|018 O4 14 V+3 v6 -170 203.0 61.0|H10 H5 2NS+1 5 150 200.0 64.0
K9 KI0 BNN+1 &5 430 1980 66.0|P25 P23 14 V+3 #J -170 203.0 610|110 I5 INN+2 ¢8 150 200.0 64.0
C10 C5 3NN+1 vK 430 1980 66.0|/014 O8 1a V+4 &T -200 1960 68.0|G13 G2 INS+2 4K 150 200.0 64.0
H10 H5 3NN+1 #J 430 1980 66.0|C18 C4 2NO+3 5 -210 1940 70.0|P17 P3 INN+2 +A 150 200.0 64.0
N10 N5 3NN+1 v3 430 1980 66.0| A2 A1l 3NV= v6 -400 1750 89.0| K1 K8 2¢ N+2 48 130 176.0 88.0
P10 P19 3NN+1 v6 430 1980 66.0| K2 K5 3NO= v5 -400 175.0 89.0| A2 A1l 2¢ N+2 ¢8 130 176.0 88.0
L12 L3 4NN-= #J 430 1980 66.0( G3 G11 3NO= 9 -400 175.0 89.0| Q5 Q7 2¢ N+2 &5 130 176.0 88.0
M13 M1 3NN+1 &J 430 1980 66.0| A4 A3 3NO= 49 -400 175.0 89.0( 17 112 2¢ N+2 &5 130 176.0 88.0
Q13 Q1 3NN+1 #J 430 198.0 66.0| E6 E9 3NO= vA -400 1750 89.0| P7 P25 3¢ N+1 3 130 176.0 88.0
F14 F4 3NN+1 vK 430 198.0 66,0 F6 F3 3NO= v5 -400 175.0 89.0| A8 A6 2¢ N+2 48 130 176.0 88.0
D15 D2 3NN+1 T 430 198.0 66.0| P7 P12 3NV= &4  -400 175.0 89.0( C8 C4 24 S+2 &K 130 176.0 88.0
F15 F16 3NN+1 &J 430 1980 66.0| 18 16 3NO= 9 400 175.0 89.0f O8 O4 2¢ N+2 &5 130 176.0 88.0
Cl18 C4 3NN+1 ¢8 430 1980 66.0| M9 M4 3NV-= #4  -400 175.0 89.0(A10 A5 2¢ N+2 &5 130 176.0 88.0
D18 D4 3NN+1 vJ 430 1980 66.0(J10 J5 3NO= 48 -400 175.0 89.0(C10 C17 2¢ N+2 45 130 176.0 88.0
018 O4 3NN+1 v7 430 1980 66.0|012 O11 3NO= 9 400 175.0 89.0 (R10 R15 3#S+1 4K 130 176.0 88.0
R18 R5 3NN+1 vJ 430 198.0 66.0|R13 R10 3NV = #4  -400 175.0 89.0 (011 O6 2¢ N+2 47 130 176.0 88.0
F19 F21 3NN+1 ¥8 430 1980 66.0|F14 F4 3NV= 5 400 175.0 89.0 (E12 E5 3¢ N+1 47 130 176.0 88.0
P25 P23 3NN+1 ¢8 430 198.0 66.0|L14 L13 3NV= &4  -400 175.0 89.0(F13 F25 2¢ N+2 T 130 176.0 88.0
F26 F7 3NN+1 vJ 430 198.0 66.0|N14 N8 3NV= #5 -400 175.0 89.0(F14 F23 2¢ N+2 48 130 176.0 88.0
F29 F8 3NN+1 ¥8 430 198.0 66.0|N15 N2 3NV= #3 -400 175.0 89.0(F15 F5 3¢ N+1 &5 130 176.0 88.0
A2 All 44 N= ¢T 420 157.0 107.0 (015 0O2 3NV = v6 -400 175.0 89.0|N18 N5 2¢ N+2 &5 130 176.0 88.0
M8 M11 44 N = ¢T 420 157.0 107.0(F29 F8 3NO= v5 -400 175.0 89.0| D1 D12 2NN= vQ 120 150.0 114.0
C12 C11 44 N= ¢T 420 157.0 107.0 | F2 F12 44 V= &5 -420 128.0136.0( F3 F1 INS+1 ¢9 120 150.0 114.0
P26 P14 44 N= ¢T 420 157.0 107. J3 J6 44 V= v4 -420 128.0 136.0| F7 F4 INS+1 +6 120 150.0 114.0
J2 J4 3NN= v3 400 128.0 136.0| Q3 Q11 44 V= ) -420 128.0 136.0( J7 J8 INN+1 &5 120 150.0 114.0
P3 P18 3NN-= v8 400 128.0 136.0| F5 F20 44 V= 46 -420 128.0 136.0 (Q10 Q11 INS+1 ¢2 120 150.0 114.0
Q3 Q11 3NN= v3 400 128.0 136.0| J7 J8 44 V= 49 -420 128.0 136.0 (E14 E2 INN+1 &5 120 150.0 114.0
A4 A3 3NN= 5 400 128.0 136.0 N7 N3 44 V= 3 -420 128.0 136.0({C16 C7 INN+1 «6 120 150.0 114.0
L4 L7 3NN-= v7 400 128.0 136.0| G8 G14 44 V= &) -420 128.0 136.0 [R18 R7 INN+1 &5 120 150.0 114.0
D6 D16 3NN-= v6 400 128.0 136.0| K8 K14 4y V= ¢A -420 128.0 136.0 (F28 F2 INN+1 &5 120 150.0 114.0
D7 D3 3NN-= v6 400 128.0 136.0| A9 Al 44 V= ¢A -420 128.0 136.0( 12 111 3¢ N= 5 110 118.0 146.0
N9 N17 3NN-= v8 400 128.0 136.0| C9 C17 4a V= v6 -420 128.0 136.0| P2 P14 2¢ N+1 #5 110 118.0 146.0
D10 D5 3NN= v8 400 128.0 136.0| G9 G10 4v V= #3 -420 128.0 136.0( J3 J6 3¢ N= 48 110 118.0 146.0
L10 L2 3NN= #J 400 128.0 136.0| K9 K10 4v V= ) -420 128.0 136.0| G4 G12 2¢ N+1 &5 110 118.0 146.0
D12 D11 3NN= #J 400 128.0 136.0 | N9 N17 44 V= 49 420 128.0 136.0 Q4 Q12 3¢ N= 8 110 118.0 146.0
Q12 Q7 3NN= v8 400 128.0 136.0| R9 R14 44 V= #3 -420 128.0 136.0| R5 R20 2# N+1 ¢A 110 118.0 146.0
E13 E2 3NN= v3 400 128.0 136.0|D10 D5 44 V= ¢J -420 128.0 136.0| L6 L11 2¢ N+1 48 110 118.0 146.0
R13 R10 3NN= v9 400 128.0 136.0|010 O5 44 V= ¢A -420 128.0 136.0| D8 D4 2¢ N+1 «3 110 118.0 146.0
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Cl4 C8 3NN= v7 400 128.0 136.0 |C12 C11 4e V= 3 -420 128.0136.0| I8 16 2¢ N+1 8 110 118.0 146.0
E14 E1 3NN= «J 400 128.0 136.0 (G12 G7 4v V= 42 -420 128.0 136.0( P8 P13 2v N= ¢+A 110 118.0 146.0
M14 M7 3NN-= v8 400 128.0 136.0|G13 G1 4y V= #J -420 128.0 136.0| D9 D14 3¢ N= «Q 110 118.0 146.0
Cl15 C2 3NN= 5 400 128.0 136.0 [N13 N1 4v V= ) -420 128.0 136.0f H9 H1 2¢ N+1 &5 110 118.0 146.0
R15 R8 3NN-= v3 400 128.0 136.0|D14 D8 44 V= v6 -420 128.0 136.0|M10 M5 2¢ N+1 &5 110 118.0 146.0
M16 M12 3NN = v8 400 128.0 136.0 [M15 M6 44 V= #J -420 128.0 136.0 [N10 N17 2v N= ¢A 110 118.0 146.0
R16 R7 3NN-= v2 400 128.0 136.0|R15 R8 4e V= #4  -420 128.0 136.0 (P11 P20 2¢ N+1 v8 110 118.0 146.0
F18 F27 3NN = v4 400 128.0 136.0 |M16 M12 44 V= #3 -420 128.0 136.0 [N13 N2 3¢ N= 48 110 118.0 146.0
N18 N4 3NN-= vJ 400 128.0 136.0|P20 P4 44 V= ¢2 -420 128.0 136.0 [Q13 Q2 2¢ N+1 48 110 118.0 146.0
P22 P5 3NN= #J 400 128.0 136.0 |[R22 R1 44 V= v6 -420 128.0 136.0|M14 M8 2¢ N+1 &#5 110 118.0 146.0
F28 F1 3NN-= v6 400 128.0 136.0 |F24 F25 44 V= v6 -420 128.0 136.0|R14 R11 2¢ N+1 48 110 118.0 146.0
G3 G11 3vyDO-2 ¢K 300 99.0 165.0 [F26 F7 44 V= v6 -420 128.0 136.0|015 O3 2¢ N+1 3 110 118.0 146.0
E5 E10 3vyDV-2 ¢K 300 99.0 165.0 [F28 F1 44 V= #J -420 128.0 136.0 (D16 D7 2¢ N+1 45 110 118.0 146.0
G9 G10 2¢vDO-2 ¢K 300 99.0 165.0| P1 P13 3NV+1 #3 -430 69.0 195.0|N16 N7 2v N= «5 110 118.0 146.0
F13 F22 3vDO-2 +A 300 99.0 1650 H2 H4 3NO+1 #9 -430 69.0 195.0|F18 F30 2y N= ¢A 110 118.0 146.0
Q9 Q10 4v O -4 ¢+A 200 93.0171.0| K4 K6 3NV+l1l ¢5 -430 69.0195.0| C1 C12 24 O-1 vT 100 79.0 185.0
015 02 24 N+3 T 200 93.0171.0| L5 L9 3NO+1 ¢5 -430 69.0195.0| Q1 Q8 24 O-1 vT 100 79.0 185.0
G4 G6 3v O-3 ¢+A 150 87.0177.0| D7 D3 3NO+1 ¢5 -430 69.01950| L4 L7 24 O-1 vT 100 79.0 185.0
N13 N1 2NN+1 v3 150 87.0177.0| H7 H8 3NO+1 ¢5 -430 69.0 1950| M4 M6 24 O-1 vT 100 79.0 185.0
P16 P2 2NN+1 ¢7 150 87.0 177.0| P8 P15 3NO+1 vA -430 69.0 195.0| G5 G7 24 O-1 vT 100 79.0 185.0
F30 F17 2NN+1 v3 150 87.0 177.0| Q8 Q14 3NO+1 9 -430 69.0 195.0| K5 K7 24 O-1 vT 100 79.0 185.0
E3 E12 4y O-2 A 100 74.0 190.0| D9 D17 3NO+1 ¢5 -430 69.0 195.0| P9 P16 24 O-1 vT 100 79.0 185.0
J3 J6 2¢vDO-1 ¢K 100 74.0 190.0| H9 H1 3NO+1 ¢5 -430 69.0 195.0|D10 D17 34 O-1 vT 100 79.0 185.0
C7 C3 3vDO-1 ¢A 100 74.0 190.0| 19 11 3NO+1 ¢T -430 69.0195.0|J10 J5 24 O-1 vT 100 79.0 185.0
P8 P15 3v O-2 +K 100 74.0 190.0 ([L10 L2 3NO+1 #9 -430 69.0 195.0|D11 D6 24 O-1 vT 100 79.0 185.0
M10 M2 3v O-2 +K 100 74.0 190.0 [M10 M2 3NO+1 #8 -430 69.0 195.0|F16 F17 24 O-1 vT 100 79.0 185.0
Gl2 G7 3v 0O-2 ¢+A 100 74.0 190.0 |P10 P19 3NO+1 ¢T -430 69.0 195.0|016 O7 24 O-1 vT 100 79.0 185.0
D13 D1 3v O-2 +A 100 74.0 190.0 (P11 P21 3NO+1 T -430 69.0 195.0|C18 C5 24 O-1 vT 100 79.0 185.0
K13 K1 2¢DO-1 ¢A 100 74.0 190.0 |D12 D11 3NO+1 ¢5 -430 69.0 195.0|R22 R2 34 O-1 vT 100 79.0 185.0
D14 D8 3v O-2 A 100 74.0 1900 (L12 L3 3NO+1 9 -430 69.0 195.0|P23 P6 24 O-1 vT 100 79.0 185.0
P1 P13 3NN-1 v8 -50 42.0 222.0|E13 E2 3NO+1 ¥5 -430 69.0 195.0 (P24 P22 24 O-1 vT 100 79.0 185.0
F2 F12 3NN-1 v4 -50 42.0 222.0|K13 K1 3NO+1 #9 -430 69.0195.0| F6 F21 INN-= 48 90 56.0 208.0
R3 R20 34 S-1 v5 -50 42.0 222.0|M13 M1 3NO+1 ¥5 -430 69.0195.0 M7 M15 2¢ N= 5 90 56.0 208.0
L5 L9 24 S-1 v9 -50 42.0 222.0|Q13 Q1 3NO+1 5 -430 69.0195.0( F9 F29 2¢ N= a7 90 56.0 208.0
E6 E9 3NN-1 v6 -50 42.0 222.0|C14 C8 3NO+1 #9 -430 69.0195.0(G10 G11 INS= 4K 90 56.0 208.0
17 112 44 N-1 +9 -50 42.0 222.0|E14 E1 3NV+l1 v6 -430 69.0 195.0|R12 R13 INN= a7 90 56.0 208.0
A8 A6 44 N-1 +3 -50 42.0 222.0|C15 C2 3NO+1 9 -430 69.0195.0(D18 D5 2¢ N= a7 90 56.0 208.0
K8 K14 3NN-1 v7 -50 42.0 222.0|D15 D2 3NO+1 ¢5 -430 69.0 195.0|P21 P5 2¢ N= 7 90 56.0 208.0
Q8 Q14 3NN-1 v6 -50 42.0 222.0|F15 F16 3NO+1 6 -430 69.0195.0( J2 J4 INN-1 3 -50 36.0 228.0
A9 Al 44 N-1 *T -50 42.0 222.0|R16 R7 3NO+1 #9 -430 69.0195.0( H3 H6 3#S-1 s K -50 36.0 228.0
H9 H1 44 S-1 v9 -50 42.0 222.0|R17 R6 3NO+1 #9 -430 69.0195.0| B4 Bl 2NN-1 43 -50 36.0 228.0
19 11 3NN-1 v3 -50 42.0 222.0|N18 N4 3NO+1 ¢5 -430 69.0 195.0| P4 P19 2v N-1 a5 -50 36.0 228.0
09 017 3NN-1 v4 -50 42.0 222.0|F30 F17 3NO+1 5 -430 69.0195.0( E6 E11 2¢ N-1 a7 -50 36.0 228.0
J10 J5 3NN-1 *] -50 42.0 222.0| H3 H6 44 V+1 v6 -450 32.0232.0| G9 G14 INS-1 s K -50 36.0 228.0
010 O5 3NN-1 vK -50 42.02220| L4 L7 44 V+1l v6 -450 32.02320| 19 11 2¢ N-1 3 -50 36.0 228.0
E11 E4 3NN-1 v8 -50 42.0 222.0| D6 D16 44 V+1 ¢A -450 32.0 2320 Q9 Q14 3v N-1 *A -50 36.0 228.0
F11 F23 3NN-1 v3 -50 42.0 222.0| 17 112 44 V+1 v6 -450 32.02320(L10 L2 INS-1 s K -50 36.0 228.0
P11 P21 44 N-1 *T -50 42.0 222.0| 09 017 44 V+1 ¢A -450 32.0 232.0 (010 O17 3# S-1 s K -50 36.0 228.0
012 011 3NN-1 v8 -50 42.0 222.0|F11 F23 44 V+1 ¢A -450 32.0 232.0(D15 D3 2¢ N-1 »5 -50 36.0 228.0
G13 G1 3NN-1 45 -50 42.0 222.0 |F18 F27 44 V+1 v6 -450 32.0 232.0|R17 R8 3¢ N-1 a7 -50 36.0 228.0
R21 R2 2NN-1 v6 -50 42.0222.0| 12 111 3NO+2 T -460 14.0 250.0|R19 R6 INN-1 46 -50 36.0 228.0
R22 R1 44 N-1 *T -50 42.0 222.0| E3 E12 3NO+2 v5 -460 14.0250.0( P1 P12 14 O= vT -80 20.0 244.0
F24 F25 44 N-1 *T -50 42.0222.0| B4 Bl 3NO+2 T -460 14.0250.0| A4 A3 14 O= vT -80 20.0 244.0
O7 O3 44 S-2 v9 -100 15.0249.0| R4 R19 3NO+2 ¥5 -460 14.0 250.0|F10 F11 14 O= vT -80 20.0 244.0
C9 C17 44 S-2 v9 -100 15.0 249.0| N6 N16 3NO+2 ¥5 -460 14.0250.0| R1 R3 INN-2 46 -100 14.0 250.0
110 15 3NN-2 v3 -100 15.0249.0| A8 A6 3NO+2 &9 -460 14.0250.0| N9 N14 34DN-1 48 -100 14.0 250.0
014 O8 3¢ S-2 v9 -100 15.0249.0| J9 J1 3NO+2 5 -460 14.0250.0(L14 L13 3vDN-1 ¢A -100 14.0 250.0
P9 P17 44 S-3 v9 -150 8.0 256.0| P9 P17 3NO+2 v5 -460 14.0 250.0| K4 K12 24 O= vT -110 9.0 255.0
L14 L13 4& N-3 ¢T -150 8.0 256.0 | Q9 Q10 3NO+2 v5 -460 14.0 250.0 | M9 M12 24 O = vT -110 9.0 255.0
P20 P4 34 S-3 v9 -150 8.0 256.0|H1I0 H5 3NO+2 ¢9 -460 14.0250.0| A9 Al 3NN-3 3 -150 5.0 259.0
N15 N2 3NN-4 v8 -200 3.0 261.0 |F13 F22 3NV+2 v5 -460 14.0 250.0 (P18 P10 2v N -3 a5 -150 5.0 259.0
R17 R6 44 N-4 ¢T -200 3.0 261.0 (D13 D1 3NO+3 v5 -490 1.0 263.0| K3 K6 24 O+2 ¢T -170 2.0 262.0
N14 N8 5¢ S-5 v9 -250 0.0 264.0|P22 P5 3NO+3 v5 -490 1.0 263.0| H7 H8 3vyDN-2 ¢A -300 0.0 264.0
- L8 1411 - L8 1411 - L8 1411
K3 - 107.5 K3 - 107.5 N1 - 122.9
- M5 107.8 - M5 107.8| 14 - 75.8
14 - 75.8 14 - 75.8 A7 - 123.9
A7 - 123.9 A7 - 123.9 - E9 107.8
E7 - 139.9 E7 - 139.9 K10 - 163.3
- N11 119.3 - N11 119.3 |M11 - 123.2
- C1 141.9 - C1 141.9 - C2 140.9
- 01 167.6 - 01 167.6 - 02 139.4
4 4 E97 Basta kontrakt 5 443 Basta kontrakt 6 465 Basta kontrakt
Vast v Kn7 4v V =-620 Nord v7 5& N =600 Ost v KD843 2NT O =-120
Alla + Kn654 NS + ED832 ov ¢ E4
+Kn874 & ¢ v & NT #D10983 & ¢ v & NT #9764 & ¢ v & NT
a4 & KKn65 N7 4374 41082 #EDKn765 N 11109 6 7 & EKKn 102 N3 446 4
v EK10853 v D64 S7 4374 vD1062 ¥95 S 11109 6 7 vE107 v 9652 S3456 4
410832 ¢ ED9 O6 9 106 9 ¢ Kn954 ¢ 107 023473 ¢+ DKn1082 ¢ 76 09 8 86 8
D5 #K93 V 6 9 106 9 &E5 »762 V23473 *EK #DKn1052 V 9 8 8 7 8
4 D10832 K9 « DO8743
v92 v EKKn843 vKn
* K7 + K6 + K953
#E1062 #KKn4 #83
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
Gl G8 3NO-1 42 100 253.0 11.0( F7 F22 4vyDS= T 790 2640 0.0]| L4 L14 5NV-5 v4 500 2630 1.0
G4 G12 4v V-1 &4 100 253.0 11.0(014 010 3NS+1 v2 630 262.0 2.0|N17 N11 3NV-5 v4 500 2630 1.0
F6 F21 4v V-1 A 100 253.0 11.0(M12 M4 4v S= T 620 260.0 40| Bl B3 3NV-3 46 300 252.0 12.0
E7 E10 4v V-1 #7 100 253.0 11.0( I8 112 54 N= 47 600 256.0 8.0| P3 P15 6NV-3 vK 300 252.0 12.0
C8 C4 4v V-1 #7 100 253.0 11.0|A10 A6 5#S= T 600 256.0 80| K6 K8 3NO-3 v3 300 2520 12.0
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08 04 4v V-1 #4 100 253.0 11.0|R11 R16 5# S= v2 600 256.0 Al10 A6 -3 ¢A 300 252.0 12.0
D9 D14 4v V-1 ¢4 100 253.0 11.0( M8 M15 44DO-3 vA 500 252.0 L11 L3 -3 45 300 252.0 12.0
H9 H2 4v V-1 7 100 253.0 11.0( L6 L10 34aDO-2 ¥vA 300 250.0 R11 R16 -3 8 300 252.0 12.0
G10 G11 4v V-1 v7 100 253.0 11.0| B4 B2 44 N+2 &5 170 246.0 D13 D3 -3 vJ 300 2520 12.0
R10 R15 4v V-1 47 100 253.0 11.0( J4 J7 3v S+l &A 170 246.0 017 011 -3 vJ 300 252.0 12.0
D11 D6 4v O-1 v2 100 2530 11.0| C9 C5 3v S+1 &2 170 246.0 P18 P4 -3 v3 300 2520 12.0
F20 F22 3NO-1 42 100 253.0 11.0( R2 R4 44 V-3 vA 150 239.0 B4 B2 -2 vK 200 228.0 36.0
N16 N7 2NO= a2 -120 240.0 240 F4 F2 34 O-3 vK 150 239.0 D4 D15 -2 46 200 228.0 36.0
F3 F1 3v V= &7 -140 236.0 28.0 (K14 K10 4# N+1 v9 150 239.0 F4 F2 -2 v8 200 228.0 36.0
I5 14 3v0O= oA -140 236.0 28.0 (017 Ol1l1l 44 O-3 vA 150 239.0 N4 N15 -2 v3 200 228.0 36.0
Q10 Q11 3v V= 4 -140 236.0 28.0( Al A7 3v 42 140 186.0 Q4 Q7 -2 vK 200 228.0 36.0
R1 R3 2vO+2 &8 -170 222.0 42.0| P1 P25 3v 8 140 186.0 Q6 Q8 -2 vK 200 228.0 36.0

R4 R21 2y V+2 ¢4 -170 222.0 420| D2 D1 3v 42 140 186.0 R6 R21 -2 vJ 200 228.0 36.0
E6 E11 29v O+2 43 -170 2220 420| E2 E4 3v #A 140 186.0 19 12 -2 45 200 228.0 36.0
J9 J2 29 O0+2 43 -170 2220 420| L2 L9 3v A 140 186.0 Cil2 C7 -2 46 200 228.0 36.0
Q9 Q14 3vyV+l A -170 222.0 420| O2 O1 3v T 140 186.0 E13 E6 -2 v5 200 228.0 36.0
E12 E5 2vO+2 &3 -170 222.0 42.0( P2 P13 3v T 140 186.0 F16 F6 -2 46 200 228.0 36.0

200 228.0 36.0
v8 200 228.0 36.0
v8 200 228.0 36.0
46 200 228.0 36.0
v3 100 175.0 89.0
5 100 175.0 89.0
vK 100 175.0 89.0
vK 100 175.0 89.0
v4 100 175.0 89.0

F13 F25 2y V+2 &A -170 2220 42.0| P3 P15 3v
F14 F23 3v V+1 &4 -170 222.0 42.0| C4 C15 3v
N15 N3 2v O+2 &A -170 222.0 42.0| D4 D15 3v
R18 R7 2vV+2 ¢4 -170 2220 420| G4 G7 3v
F19 F27 3v V+1 vJ -170 2220 42.0| K4 K7 3v
Pl P12 3vV+2 ¢4 -200 204.0 60.0| L4 L14 3v
J3 J5 24DS-1 vK -200 204.0 60.0| N4 N15 3v
E4 E13 29 O+3 42 -200 204.0 60.0| O4 O15 3v
M4 M6 2vV+3 #A -200 2040 60.0| G5 G1 3v

A 140 186.0
A 140 186.0
#A 140 186.0
8 140 186.0
A 140 186.0
42 140 186.0
A 140 186.0
T 140 186.0
T 140 186.0

'
N
L
[ee]

46 100 175.0 89.0
v4 100 175.0 89.0
v4 100 175.0 89.0
v3 100 175.0 89.0
v3 100 175.0 89.0
v4 100 175.0 89.0
vK 100 175.0 89.0

48 -620 129.0 135.0 (F16 F6 3v
#4  -620 129.0 135.0 (P16 P26 3v
v7 -620 129.0 135.0 |D17 D11 3v
vJ -620 129.0 135.0 |[N17 N11 3v
A -620 129.0 135.0 [F19 F30 3v
4A -620 129.0 135.0 [R19 R8 3v
v9 -620 129.0 135.0 |P24 P7 3v

T 140 186.0
2 140 186.0
A 140 186.0
T 140 186.0
A 140 186.0
+5 140 186.0
T 140 186.0 7
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H10 H6 2¢v O+3 42 -200 2040 60.0| I5 14 2v 1 +9 140 186.0 A3 All -1 46 100 175.0 89.0
R12 R13 2¢v O+3 ¢K -200 204.0 60.0| K5 K1 3v 42 140 186.0 J3 J5 -1 vQ 100 175.0 89.0
F28 F2 3vV+2 &4 -200 204.0 60.0| L5 L8 3v #A 140 186.0 H4 H7 -1 v4 100 175.0 89.0
B3 B2 34 S-3 vA -300 1950 69.0| R5 R1 3v 8 140 186.0 -1 7 100 175.0 89.0
E14 E2 34 S-3 vA -300 195.0 69.0| D6 D18 3v 42 140 186.0 A5 A4 -1 v3 100 175.0 89.0
P4 P19 3N O 42 -600 188.0 76.0( G6 G8 3v 42 140 186.0 K5 K1 -1 v8 100 175.0 89.0
011 O6 8 -600 188.0 76.0( K6 K8 3v A 140 186.0 P5 P20 -1 46 100 175.0 89.0
D13 D2 42 -600 188.0 76.0( O6 018 2v 1 &7 140 186.0 -1 46 100 175.0 89.0
C18 C5 48 -600 188.0 76.0( R6 R21 3v 42 140 186.0 D6 D18 -1 4 100 175.0 89.0
F18 F30 8 -600 188.0 76.0( F8 F5 3v 42 140 186.0 G6 G8 -1 vK 100 175.0 89.0
Al A7 47 -620 129.0 135.0( H8 H1 3v 42 140 186.0 E7 E12 -1 v4 100 175.0 89.0
C1l Ci12 v9 -620 129.0 135.0| A9 A2 3v 140 186.0 F7 F22 1 45 100 175.0 89.0
El1 E3 #4  -620 129.0 135.0( D9 D5 3v 2 140 186.0 H8 H1 -1 46 100 175.0 89.0
K1 K8 4A -620 129.0 135.0 E9 E10 3v A 140 186.0 18 112 -1 46 100 175.0 89.0
M1 M16 ¢4 -620 129.0 135.0( H9 H2 2v 1 #A 140 186.0 Jg Ji -1 46 100 175.0 89.0
01 012 oA -620 129.0 135.0( N9 N5 3v A 140 186.0 M8 M15 -1 v3 100 175.0 89.0
Q1L Q8 #4  -620 129.0 135.0 [F10 F29 3v 42 140 186.0 E9 E10 -1 v4 100 175.0 89.0
A3 All 42 -620 129.0 135.0 (H10 H6 2v 1 «2 140 186.0 H9 H2 -1 46 100 175.0 89.0
G3 G6 oA -620 129.0 135.0( 110 16 2v 1 &A 140 186.0 Jo9  J2 -1 vK 100 175.0 89.0
H3 H5 47 -620 129.0 135.0 (M10 M1 2v 1 &A 140 186.0 P9 P14 -1 v3 100 175.0 89.0
Q3 Q6 aA -620 129.0 135.0 (D13 D3 3v 42 140 186.0 F10 F29 -1 v4 100 175.0 89.0
Ja J7 oA -620 129.0 135.0 [N13 N3 3v 8 140 186.0 F11 F12 -1 v3 100 175.0 89.0
L4 L14 #A -620 129.0 135.0 (R13 R14 3v 42 140 186.0 M12 M4 -1 46 100 175.0 89.0
A5 A4 a7 -620 129.0 135.0 (D14 D10 2v 1 #A 140 186.0 N13 N3 -1 5 100 175.0 89.0
G5 G7 ¢4  -620 129.0 135.0 (G14 G10 3v 2 140 186.0 Q13 Q3 -1 5 100 175.0 89.0
K5 K7 4A -620 129.0 135.0 ([C16 C8 3v 42 140 186.0 R13 R14 -1 46 100 175.0 89.0
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&7 -620 129.0 135.0 A5 A4 4e vK 100 130.0 134.0| L6 L10 &A -50 136.0 128.0
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18 112 vJ -620 129.0 135.0| Q5 Q1 34 O-2 vA 100 130.0 134.0| 15 14 = v3 -90 134.0 130.0
P8 P13 oA -620 129.0 135.0( J9 J2 34 O-2 vK 100 130.0 134.0 |G11 G12 -2 #A -100 132.0 132.0
oA -620 129.0 1350 O9 O5 34 O-2 vA 100 130.0 134.0 |K13 K3 = vJ -110 128.0 136.0

M9 M12 42 -620 129.0 135.0 [Q11 Q12 44 O-2 vA 100 130.0 134.0|D17 D11 = vK -110 128.0 136.0
P9 P16 a7 -620 129.0 135.0 (P22 P6 34 O-2 vA 100 130.0 134.0 |F19 F30 +2 vK -110 128.0 136.0
Al10 A6 3 -620 129.0 135.0 (F26 F9 34 O-2 vA 100 130.0134.0| 11 17 2NV= v3 -120 117.0 147.0
F10 F11 ¢5 -620 129.0 135.0( 11 17 34 O-1 vA 50 114.0 150.0| H3 H5 2NV= &7 -120 117.0 147.0
110 16 oA -620 129.0 1350 C2 C1 34 O-1 vA 50 114.0 150.0| O4 015 2NV = v4 -120 117.0 147.0
M10 M5 #8 -620 129.0 135.0 P8 P12 24 O-1 vK 50 114.01500| L5 L8 2NV= v3 -120 117.0 147.0
N10 N17 46 -620 129.0 135.0 P9 P14 34 O-1 vA 50 114.0 150.0| C6 C18 2NV = v3 -120 117.0 147.0
010 017 oA -620 129.0 135.0 (M11 M6 34 O-1 vK 50 114.0 150.0 | L13 L12 2NV = v8 -120 117.0 147.0
Cll1 Cé6 oA -620 129.0 135.0 (G13 G3 34 O-1 vA 50 114.0 150.0 |D14 D10 2NV = vK -120 117.0 147.0
L11 L3 aA -620 129.0 135.0 Q14 Q10 34 O-1 vA 50 114.0 150.0 |F21 F23 2NV = v3 -120 117.0 147.0
P11 P20 oA -620 129.0 135.0 (P19 P11 34 O-1 vA 50 114.0150.0| D2 D1 3¢ V+1 vK -130 108.0 156.0
F12 F24 oA -620 129.0 135.0 ([R22 R3 34 V-1 v7 50 1140 150.0| F1 F13 3¢ O+2 ¥J -150 98.0 166.0
G13 G2 &7 -620 129.0 1350 B1 B3 4v S-1 5 -100 67.0197.0( O2 O1 2NV +1 v4 -150 98.0 166.0
K13 K2 #A -620 129.0 135.0( G2 G9 4v S-1 #A -100 67.0197.0( P2 P13 2NV+1 &5 -150 98.0 166.0
L13 L12 #4  -620 129.0 135.0 K2 K9 4v S-1 8 -100 67.0197.0( R2 R4 2NO+1 K -150 98.0 166.0
N13 N2 &7 -620 129.0 1350 Q2 Q9 4v S-1 #A -100 67.0 197.0( P8 P12 2NV +1 v3 -150 98.0 166.0
C15 C3 #4 -620 129.0 135.0( H3 H5 4v S-1 42 -100 67.0 197.0( M9 M14 3¢ O+2 ¢J -150 98.0 166.0
D15 D3 #A -620 129.0 1350 J3 J5 4v S-1 #A -100 67.0 197.0 [Q11 Q12 2NV +1 v8 -150 98.0 166.0
F15 F5 v2 -620 129.0 135.0| H4 H7 4v S-1 48 -100 67.0 197.0 (F14 F25 2NV+1 46 -150 98.0 166.0
P15 P26 49 -620 129.0 135.0( Q4 Q7 4v S-1 #A -100 67.0 197.0 (014 O10 2NV +1 v3 -150 98.0 166.0
F16 F17 42 -620 129.0 1350 E5 E1 5#N-1 v9 -100 67.0197.0| N2 N1 34DS-2 #A -300 87.0177.0
016 O7 47 -620 129.0 1350 M5 M7 4v S-1 T -100 67.0197.0(R20 R7 34DS-2 &A -300 87.0177.0
R16 R9 v9 -620 129.0 135.0| N6 N18 4v S-1 #A -100 67.0 197.0 (Q14 Q10 34DS-3 #A -500 84.0 180.0
N18 N5 vJ -620 129.0 135.0| Q6 Q8 4v S-1 T -100 67.0197.0| P1 P25 3NV = v3 -600 53.0 211.0
018 O5 aA -620 129.0 135.0| E7 E12 4v S-1 4T -100 67.0197.0| E2 E4 3NV= v3 -600 53.0 211.0
P24 P22 oA -620 129.0 135.0( J8 J1 4v S-1 #A -100 67.0 197.0( G4 G7 3NV= 45 -600 53.0 211.0
F26 F8 oA -620 129.01350( 19 12 4v S-1 8 -100 67.0197.0| E5 E1 3NV= vK -600 53.0 211.0
Jg J1 1 42 -630 70.0194.0( M9 M14 4v S-1 48 -100 67.0197.0| M5 M7 3NV= vK -600 53.0 211.0
A9 A2 1 &2 -630 70.0194.0|J10 J6 4v S-1 48 -100 67.0197.0f Q5 Q1 3NV= v4 -600 53.0 211.0
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D10 D17 3NO+1 42 -630 70.0 194.0(F11 F12 4v S-1 #A -100 67.0197.0| F8 F5 3NV= 46 -600 53.0211.0
N11 N6 3NO+1 #A -630 70.0194.0|L11 L3 4vS-1 4T -100 67.0197.0| C9 C5 3NV= vK -600 53.0 211.0
P23 P6 3NO+1 3 -630 70.0194.0(C12 C7 4v S-1 42 -100 67.0197.0( D9 D5 3NV= 45 -600 53.0211.0
11 17 4vV+1 &A -650 34.0230.0|/012 O7 5#S-1 #A -100 67.0197.0| N9 N5 3NV= v3 -600 53.0 211.0
L2 L9 4vV+l vJ -650 34.0230.0|E13 E6 4v S-1 4T -100 67.0197.0| O9 O5 3NV= v3 -600 53.0211.0
P2 P14 4v O+1 ¢7 -650 34.0230.0(L13 L12 4v S-1 42 -100 67.0 197.0 (H10 H6 3NV = 46 -600 53.0211.0
K3 K6 4v V+1 &7 -650 34.0230.0(E14 E3 4v S-1 5 -100 67.0197.0| 110 16 3NV= v3 -600 53.0 211.0
B4 Bl 4¢vV+1l ¢5 -650 34.0230.0(F14 F25 4v S-1 4T -100 67.0197.0(J10 J6 3NV= vK -600 53.0 211.0
H4 H7 4vV+1 #8 -650 34.0 230.0 (N14 N10 4v S-1 42 -100 67.0 197.0 (P10 P17 3NV = v4 -600 53.0211.0
K4 K12 4v V+1 #4 -650 34.0 230.0 (F15 F24 4v S-1 4T -100 67.0 197.0 (M11 M6 3NV = vQ -600 53.0211.0
Q4 Q12 4vV+1l A -650 34.0 230.0(R15 R12 4v S-1 «A -100 67.0 197.0 D12 D7 3NV= 46 -600 53.0211.0
H8 H1 4vV+l1 5 -650 34.0230.0{N16 N8 4v S-1 #A -100 67.0 197.0 (012 O7 3NV= vK -600 53.0211.0
N8 N4 4v O+1 K -650 34.0 230.0|C17 Cl1l1 4v S-1 42 -100 67.0 197.0|G13 G3 3NV= 9 -600 53.0 211.0
C9 Cl1l4 4v V+1 #4 -650 34.0 230.0(R17 R10 4v S-1 «A -100 67.0 197.0 |C14 C10 3NV = v4 -600 53.0 211.0
FO F29 4v O+1 #6 -650 34.0 230.0 (P18 P4 3v S-1 4T -100 67.0 197.0(E14 E3 3NV= 46 -600 53.0211.0
G9 G14 4vV+1l #4 -650 34.0 230.0(R18 R9 4v S-1 #A -100 67.0 197.0 |[K14 K10 3NV = #4 -600 53.0 211.0
N9 N14 4y V+1 vJ -650 34.0 230.0|F20 F27 4v S-1 «A -100 67.0 197.0 |[R15 R12 3NV = vK -600 53.0 211.0
09 014 4vV+1l &A -650 34.0230.0(R20 R7 4v S-1 #A -100 67.0 197.0 (D16 D8 3NV = v3 -600 53.0211.0
C10 C17 4v V+1 &7 -650 34.0 230.0|F21 F23 4v S-1 #A -100 67.0 197.0 [M16 M2 3NV = vQ -600 53.0211.0
JI0 J6 4v V+1 vJ -650 34.0 230.0 (P23 P21 4v S-1 «A -100 67.0 197.0 |C17 C11 3NV = v3 -600 53.0211.0
M13 M2 4y V+1 ¢6 -650 34.0230.0|F28 F3 4v S-1 #A -100 67.0 197.0 |F17 F18 3NV = v3 -600 53.0211.0
Q13 Q2 4y V+1l &7 -650 34.0230.0| F1 F13 3NS-2 4T -200 16.0 248.0|R18 R9 3NV= vK -600 53.0 211.0
M14 M8 4y V+1 #4 -650 34.0230.0| N2 N1 4v S-2 #A -200 16.0 248.0 |F20 F27 3NV = v4 -600 53.0 211.0
R14 R11 4v O+1 43 -650 34.0 230.0| A3 All 4vDS-1 48 -200 16.0248.0|F26 F9 3NO= 49 -600 53.02110
015 O3 4y V+1l ¢5 -650 34.0230.0| P5 P20 3NN-2 46 -200 16.0 2480 A1 A7 3NO+1 44 -630 14.0 250.0
Cle C7 49y O+1 7 -650 34.0230.0| C6 C18 5v S-2 #A -200 16.0 248.0| C4 C15 3NV+1 ¢K -630 14.0 250.0
D16 D7 4¢v O+1 ¢K -650 34.0 230.0 (P10 P17 5v S-2 42 -200 16.02480( J4 J7 3NV+l1l v3 -630 14.0 250.0
P17 P3 4vV+l1 A -650 34.0230.0|G1l1 G12 5v S-2 #A -200 16.0 248.0( N6 N18 3NV+1 ¢K -630 14.0 250.0
R17 R8 4v V+1 &A -650 34.0 230.0 (K13 K3 4v S-2 «5 -200 16.0 2480 A9 A2 3NV+1l vQ -630 14.0 250.0
D18 D5 4v V+l vJ -650 34.0230.0|Q13 Q3 3NN-2 4A -200 16.0 248.0(M10 M1 3NV+1 vQ -630 14.0 250.0
P18 P10 4v V+1 &7 -650 34.0 230.0|C14 C10 54DS-1 42 -200 16.0 248.0|F15 F24 3NO+1 &7 -630 14.0 250.0
R19 R6 4vy O+1 48 -650 34.0230.0(D16 D8 4vDS-1 42 -200 16.02480|P22 P6 3NV+1 ¥3 -630 14.0 250.0
P21 P5 4vV+l1 &7 -650 34.0230.0|(M16 M2 5v S-2 4T -200 16.0 248.0(P23 P21 3NV+1 v8 -630 14.0 250.0
R22 R2 4y V+1 #8 -650 34.0 230.0(016 08 3v S-2 T -200 16.0 248.0(C16 C8 3NV+2 ¢K -660 4.0 260.0

K9 K14 3NO+2 42 -660 2.0 262.0 [F17 F18 3N S-3 T -300 2.0 262.0| O6 018 34DS-4 &K -800 2.0 262.0
D1 D12 44DS-3 vK -800 0.0 264.0 (D12 D7 6¢DN-2 &A -500 0.0 2640 G5 G1 44DS-5 #A -1100 0.0 264.0

- L7 143.7 - L7 143.7 - L7 143.7
N1 - 122.9 - 111 154.1 - 111 154.1

- 111 154.1| A8 - 122.9 A8 - 122.9
A8 - 122.9 - E11 145.6 - E11 145.6

- E9 107.8 - K12 144.3 - K12 144.3
K10 - 163.3 - N7 115.7 - N7 115.7

M11 - 123.2 - C3 124.8 - C3 124.8

- C2 140.9 |M13 - 1545 M13 - 154.5

- 02 139.4 - 03 134.7 - 03 134.7

7 4 KKn102 Basta kontrakt 8 4 KD85 Basta kontrakt 9 410943 Basta kontrakt
Syd v K10 5NT S =660 Vast v DKn10963 4v N D -1-100 Nord v E82 74 N =1510
Alla *E7 Ingen + K3 ov + EKn6
#EKKn107 & ¢ v & NT »8 & ¢ v & NT D104 & ¢ v & NT
D975 4 EB863 N 11108 8 11 « E109 462 N3 3996 476 482 N 7 11111311
vE532 vKn874 S 11108 8 11 v- vE8 S33996 v10976 vD4 S 7 11111311
¢ Kn862 ¢ 1054 023552 +D10875 ¢ Kn962 O 10103 4 7 + D5 410873 06 1101
&D 293 V23552 #EKNn1097 #KD542 V 10103 4 7 #KKn765 #E9832 V61101
a4 4 Kn743 » EKDKn5
v D96 v K7542 v KKn53
+ KD93 ¢+ E4 ¢ K942
#86542 #63 »-

Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
J5 J8 24DO-3 ¢K 800 2640 0.0| H5 H8 4¢vrDN= #K 590 261.0 3.0(D11 D7 74aDS= &7 1770 264.0 0.0
Cl C8 3NN+2 ¢4 660 220.0 440| K7 K9 4vDN= &K 590 261.0 30| J1I J2 64 N+1 42 1010 237.0 27.0
H1 H2 3NS+2 v2 660 220.0 44.0(G13 G4 4vDN= 43 590 2610 30| M1 M8 64 S+1 ¢5 1010 237.0 27.0
Jl1 J2 3NN+2 v4 660 220.0 44.0|R14 R15 4¢vDS= ¢7 590 2610 30 R1 R9 64 S+1 ¢7 1010 237.0 27.0
M1 M5 3NN+2 43 660 220.0 440| K5 K8 74DV-3 vQ 500 2560 80| A2 A8 64 S+1 &7 1010 237.0 27.0
Ol O8 3NS+2 &5 660 220.0 440 P4 P16 4v N= ¢2 420 230.0 340 C2 C9 64 N+1 &A 1010 237.0 27.0
L2 L8 3NN+2 #A 660 2200 44.0| F5 F3 4y N= #6 420 230.0 34.0( O2 09 64 S+1 &5 1010 237.0 27.0
C3 C2 3NN+2 v4 660 220.0 440( G5 G8 4y N= #K 420 230.0 340 H4 H6 64 S+1 47 1010 237.0 27.0
L3 L10 BNN+2 ¥4 660 220.0 44.0| J5 J8 4y N= #K 420 230.0 34.0( P5 P17 64 S+1 &5 1010 237.0 27.0
N3 N2 3NS+2 &7 660 220.0 440 E6 E2 4y N= 46 420 230.0 340 A6 A5 64 S+1 ¢Q 1010 237.0 27.0
P3 P14 3NN+2 v4 660 220.0 44.0| 16 15 4vy N= #2 420 230.0 340( 16 I5 64 N+1 A 1010 237.0 27.0
R3 R5 3NN+2 ¥4 660 220.0 44.0| P6 P21 4y N= #2 420 230.0 340 E7 E3 64 S+1 &7 1010 237.0 27.0
B4 B2 3NN+2 v4 660 220.0 440 Q7 Q9 4v N= 42 420 230.0 34.0( P7 P22 64 S+1 ¢T 1010 237.0 27.0
H4 H6 3NS+2 v5 660 220.0 44.0| F8 F23 4y N= #K 420 230.0 340 R8 R2 64 S+1 ¢Q 1010 237.0 27.0
E6 E2 3NN+2 v4 660 220.0 44.0 (D10 D6 4v N= #K 420 230.0 34.0(A10 A7 64 N+1 &A 1010 237.0 27.0
M6 M8 3NS+2 ¢3 660 220.0 440|110 17 4y N= K 420 230.0 34.0(C10 Cl16 64 S+1 &5 1010 237.0 27.0
07 018 BNN+2 43 660 220.0 44.0|J10 J7 4y N= ¢6 420 230.0 34.0(H10 H7 64 N+1 A 1010 237.0 27.0
R7 R1 3NN+2 &6 660 220.0 440|111 14 4y N= 42 420 230.0 34.0(P10 P14 64 S+1 &7 1010 237.0 270
F8 F23 3NN+2 43 660 220.0 44.0|P11 P18 4y N= &2 420 230.0 34.0(E11 E12 64 N+1 T 1010 237.0 27.0
H9 H3 3NN+2 v7 660 2200 44.0|F12 Fl1 4y N= #2 420 230.0 34.0(Q12 Q14 64 S+1 ¢Q 1010 237.0 27.0
J9 J3 3NN+2 v4 660 220.0 44.0|N13 N4 4y N= 46 420 230.0 34.0(C15 C6 64 S+1 ¢Q 1010 237.0 27.0

A10 A7 3NN+2 43 660 220.0 44.0|[N14 N11 4y N= 46 420 230.0 34.0(D15 D6 64 N+1 &A 1010 237.0 27.0
Cl10 C6 3NN+2 v7 660 220.0 44.0|014 O11 4y N= 46 420 230.0 34.0(017 O1 64 S+1 vT 1010 237.0 27.0
E10 E11 3NN+2 &5 660 220.0 44.0|C15 C5 4y N= K 420 230.0 34.0(D18 D8 64 S+1 47 1010 237.0 27.0
H10 H7 3NS+2 v2 660 220.0 44.0F15 F25 4v N= K 420 230.0 34.0(018 O8 64 S+1 ¢Q 1010 237.0 27.0
M10 M14 3NN+2 &3 660 220.0 44.0(N15 N5 4v N= ¢2 420 230.0 340(R20 R11 64 S+1 &7 1010 237.0 27.0
M11 M2 3NS+2 v3 660 220.0 44.0 (P22 P20 4v N= K 420 230.0 34.0(F29 F12 64 N+1 &A 1010 237.0 27.0
M12 M7 3NN+2 vJ 660 220.0 44.0 (P26 P17 4v N= 42 420 230.0 34.0| P2 P25 64 S= v6 980 206.0 58.0
Q12 Q1 3NS+2 v2 660 220.0 44.0|F28 F4 4v N= ¢Q 420 230.0 34.0( P3 P13 64 S= 7 980 206.0 58.0
R12 R17 3NN+2 v4 660 220.0 44.0(F29 F11 4v N= #K 420 230.0 340( E4 E6 64 N= 42 980 206.0 58.0
K13 K4 3NN+2 ¢4 660 220.0 440| C7 C18 64DO-2 ¥2 300 201.0 63.0| Q4 Q11 64 N= #A 980 206.0 58.0
M13 M4 3NN+2 ¢4 660 220.0 44.0|Q13 Q4 64DV-2 #8 300 201.0 63.0|Cl7 Cl 64 S= 47 980 206.0 58.0
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Cl4 C11 3NN+2 v7 660 220.0 44.0(Q14 Q11 64DO-2 ¢A 300 201.0 63.0| HI H2 54 S+2 47 510 130.0 134.0
E14 E4 3NN+2 v4 660 220.0 44.0|R18 R11 64D O-2 &J 300 201.0 63.0( I1 112 44 S+3 ¢T 510 130.0 134.0
D15 D5 3NN+2 ¢7 660 2200 440| O1 O8 2y N+2 #4 170 1940 70.0| K1 K2 44 S+3 ¢Q 510 130.0 134.0
F16 F13 3NN+2 43 660 220.0 44.0|M13 M4 3y N+1 #Q 170 1940 700 Q1 Q2 44 S+3 ¢T 510 130.0 134.0
N16 N9 3NN+2 ¥4 660 2200 44.0|P25 P8 3v N+1 #Q 170 1940 70.0| D2 D9 44 S+3 v7 510 130.0 134.0
F18 F19 3NS+2 45 660 2200 44.0| G3 G10 5¢DV-1 &K 100 177.0 87.0( 12 I8 44 S+3 47 510 130.0 134.0
R18 R11 3NN+2 v7 660 220.0 44.0| P3 P14 54DV-1 4K 100 177.0 87.0| L2 L8 44 S+3 T 510 130.0 134.0
R19 R10 3N S +2 v2 660 220.0 44.0| K6 K2 6#V-2 v9 100 1770 87.0| M2 M6 44 S+3 v9 510 130.0 134.0
F20 F30 BNN+2 v7 660 220.0 44.0| D7 D18 6% V-2 K 100 177.0 87.0| F3 F15 44 S+3 v9 510 130.0 134.0
P22 P20 3NS+2 5 660 2200 440| R7 R1 5¢DV-1 &8 100 1770 87.0| L3 L10 44 S+3 #4 510 130.0 134.0
P25 P8 3NN+2 3 660 220.0 44.0|M12 M7 64DO-1 ¢A 100 1770 87.0| B4 B3 44 S+3 +5 510 130.0 134.0
F28 F4 3NS+2 vA 660 220.0 44.0|D14 D11 6% O-2 v7 100 1770 87.0| C4 C3 44 S+3 +Q 510 130.0 134.0
P1 P24 3NN+1 43 630 159.0 105.0 |E14 E4 5¢DV-1 K 100 177.0 87.0| D4 D3 44 S+3 v7 510 130.0 134.0
A2 A8 3NN+1 &3 630 159.0 105.0 (D15 D5 6% O -2 ¢A 100 177.0 87.0| N4 N3 44 S+3 47 510 130.0 134.0
F2 F14 3NS+1 7 630 159.0 1050 (M15 M9 64DV-1 ¢A 100 1770 87.0| P4 P15 44 S+3 v9 510 130.0 134.0
12 18 BNN+1 T 630 159.0 105.0|D16 D9 5#DV-1 48 100 177.0 87.0( R4 R6 44 S+3 ¢T 510 130.0 134.0
Q3 Q10 3NN+1 43 630 159.0 105.0|N16 N9 5#DO-1 v2 100 1770 87.0| H5 H8 44 S+3 T 510 130.0 134.0
F5 F3 3NS+1 5 630 159.0 105.0 (P19 P5 6¢ V-2 vQ 100 1770 87.0| J5 J8 44 S+3 +Q 510 130.0 134.0
H5 H8 3NN+1 43 630 159.0 105.0|R22 R4 6# V-2 4K 100 177.0 87.0| L5 L7 44 S+3 47 510 130.0 134.0
G6 G2 3NN+1 v4 630 159.0105.0( Bl B3 5#V-1 v3 50 145.0119.0| F6 F4 44 S+3 v7 510 130.0 134.0
6 I5 BNN+1 43 630 159.0 105.0| M1 M5 6# O-1 ¢A 50 14501190 G6 G9 44 S+3 v7 510 130.0 134.0
C7 C18 3NN+1 46 630 159.0 105.0| A2 A8 54 0-1 v2 50 1450 119.0| L6 L9 44 S+3 v9 510 130.0 134.0

49 600 106.0 158.0| R3 R5
4A 600 106.0 1580| L5 L7
v7 600 106.0 158.0| Q5 Q8
4A 600 106.0 158.0| A6 A5

3 w4 210 68.0196.0| M6 M8

4 a3 210 680 196.0| A9 A3

G5 G8 INN+4 43 210  68.0 196.0 |[E10 E11

vA -100 73.0191.0|C18 C8 44 S+3 T 510 130.0 134.0
3 -100 73.0191.0(F18 F8 44 S+3 v7 510 130.0 134.0
¢J -100 73.0 191.0 [N18 N8 44 S+3 &6 510 130.0 134.0
#K -100 73.0 191.0 (F19 F20 44 S+3 ¢Q 510 130.0 134.0
¢2 -100 73.0191.0 (P20 P6 44 S+3 ¢Q 510 130.0 134.0
73.0 191.0 (P21 P19 44 S+3 &7 510 130.0 134.0
#K -100 73.0 191.0(R22 R5 54 S+2 ¢T 510 130.0 134.0

R6 R2 INN+4 v4 210 68.0 196.0 (K12 K1
D10 D6 2NN+3 v7 210 68.0 196.0 | L12 L11
P11 P18 2NN+3 &3 210 68.0 196.0 (Q12 Q1
L12 L11 INN+4 48 210 68.0 196.0 [R12 R17
L13 L4 2N S+3 v2 210 68.0 196.0 (D13 D4
D17 D12 2NN+3 v7 210 68.0 196.0 (G14 G11

J4 J6 INN+3 &3 180 55.0 209.0 |016 09 6¥ N -
Gl2 G1 2NN+2 v7 180 55.0 209.0 |R16 R13 5vDN
G14 G11 INN+3 v4 180 55.0 209.0 |[R19 R10 5vDN

N

#K -100 73.0 191.0 [F23 F13 44 S+3 ¢T 510 130.0 134.0
#A -100 73.0 191.0 (P23 P1 44 S+3 ¢T 510 130.0 134.0
46 -100 73.0 191.0 [F25 F16 44 S+3 47 510 130.0 134.0
4A -100 73.0 191.0(F26 F11 44 S+3 &5 510 130.0 134.0
#K -100 73.0 191.0 (P26 P18 44 S+3 &7 510 130.0 134.0
+9 -100 73.0 191.0(F28 F5 44 S+3 46 510 130.0 134.0
«Q -100 73.0191.0f N2 N9 3NN+3 vQ 490 58.0 206.0
#K -100 73.0191.0( F1 F2 44 S+2 &5 480 34.0 230.0
46 -100 73.0191.0( G1 G2 44 S+2 &7 480 34.0 230.0
F17 F7 2NN+2 48 180 55.0 209.0 | F22 F24 5vD #K -100 73.0191.0( B2 Bl 54 S+1 ¢Q 480 34.0 230.0
P4 P16 34 N+3 43 170 46.0 218.0 (P23 P7 5vyDN-1 &K -100 73.0 191.0| G4 G11 44 N+2 42 480 34.0 230.0
A6 A5 34 N+3 43 170 46.0 2180 P1 P24 24V +2 vQ -130 48.0216.0| O4 O3 44 S+2 vT 480 34.0 230.0
Q6 Q2 3#N+3 T 170 46.0 2180 J9 J3 44 O+1 ¢A -150 46.0218.0| K6 K9 44 S+2 ¢5 480 34.0 230.0
110 17 3« N+3 43 170 46.0 218.0 [R20 R9 5vyDN-2 46 -300 44.0220.0| Q7 Q3 44 S+2 &5 480 34.0 230.0
014 O11 3« N+3 3 170 46.0 218.0| B4 B2 3#S-7 &7 -350 42.02220( A9 A3 44 S+2 5 480 34.0 230.0
Bl B3 3#N+2 &9 150 25.0 239.0| E1 E7 = 400 21.0 243.0| F9 F24 44 S+2 +¢Q 480 34.0 230.0
D1 D8 3« N+2 v7 150 25.0 239.0| H1 H2 v2 -400 21.0 243.0|D10 D16 44 S+2 T 480 34.0 230.0

F9 F6 3NS+1 45 630 159.0 105.0| L3 L10 5¢ V-1 4K 50 145.0 1190 G7 G3 54 S+2 ¢Q 510 130.0 134.0
P10 P15 3NN+1 3 630 159.0 1050 O3 O2 5# V-1 vQ 50 1450 119.0| M7 M9 44 S+3 ¢T 510 130.0 134.0
All A4 3NN+1 v4 630 159.0 1050 H4 H6 5# V-1 4Q 50 14501190 R7 R3 44 S+3 ¢T 510 130.0 134.0
111 14 3NN+1 ¢4 630 159.0 105.0| Q6 Q2 5% O -1 vK 50 145.0 119.0| G8 G10 44 S+3 v6 510 130.0 134.0
Q14 Q11 3NN+1 43 630 159.0 1050| R6 R2 5# O-1 #6 50 145.0 119.0| K8 K10 44 S+3 ¢T 510 130.0 134.0
D16 D9 3NS+1 46 630 159.0 105.0| G7 G9 5# O-1 v2 50 145.0 119.0| Q8 Q10 44 S+3 47 510 130.0 134.0
017 012 3NS+1 ¢2 630 159.0 105.0| N7 N18 6# O-1 vK 50 145.0 119.0| E9 E1 44 S+3 ¢Q 510 130.0 134.0
P19 P5 3NS+1 v3 630 159.0 105.0 |A10 A7 5& V-1 vQ 50 1450 119.0| H9 H3 44 S+3 T 510 130.0 134.0
G3 G10 54 N+1 #3 620 138.0 126.0 (K13 K4 5¢ V-1 #8 50 145.0119.0( J9 J3 44 S+3 ¢v9 510 130.0 134.0

N7 N18 54 N+1 #3 620 138.0 126.0(L13 L4 54 0-1 v2 50 145.0119.0| 110 17 44 S+3 &7 510 130.0 134.0
C17 C12 54 N+1 #9 620 138.0 126.0 (C17 C12 64 O-1 ¢A 50 145.0119.0(J10 J7 44 S+3 47 510 130.0 134.0

El E7 5 N-= #9 600 106.0 158.0 [F17 F7 5# V-1 vQ 50 145.0 119.0 |IN10 N16 44 S+3 T 510 130.0 134.0

P2 P12 5& N = #9 600 106.0 158.0 [F18 F19 5¢ V-1 #8 50 145.0 119.0 (A1l A4 44 S+3 ¢Q 510 130.0 134.0

K3 K10 3NN-= 43 600 106.0 158.0 ([R21 R8 5¢ V-1 oK 50 145.0119.0(Cl11 C7 44 S+3 &5 510 130.0 134.0

K5 K8 3NN-= 43 600 106.0 158.0 [F26 F10 5% V-1 vQ 50 1450 119.0| 111 14 44 S+3 &7 510 130.0 134.0

L5 L7 5& N-= #3 600 106.0 158.0( P2 P12 5v N-1 &K -50 112.0 152.0|011 O7 44 S+3 T 510 130.0 134.0
Q5 Q8 5& N= ¢T 600 106.0158.0( C3 C2 5v N-1 &K -50 112.0 152.0 |P11 P16 44 S+3 #6 510 130.0 134.0

K6 K2 5&N-= #9 600 106.0 158.0( D3 D2 5v N-1 &K -50 112.0 152.0 |K12 K14 44 S+3 T 510 130.0 134.0

P6 P21 5& N = v7 600 106.0 158.0| N3 N2 5v N-1 &K -50 112.0 152.0 | L12 L11 44 S+3 T 510 130.0 134.0

D7 D18 3NN-= 46 600 106.0158.0( J4 J6 5v N-1 *2 -50 112.0 152.0|P12 P9 44 S+3 T 510 130.0 134.0
G7 G9 5& N= v4 600 106.0 158.0| O7 O18 5v N-1 &K -50 112.0 152.0 |K13 K5 44 S+3 &5 510 130.0 134.0

K7 K9 5& N = v4 600 106.0 158.0| F9 F6 5v N-1 &K -50 112.0 152.0|L13 L4 44 S+3 #6 510 130.0 134.0

A9 A3 5& N-= A 600 106.0 1580 H9 H3 5v N-1 &K -50 112.0 152.0 |M13 M5 44 S+3 ¢T 510 130.0 134.0

E9 E12 5& N= #9 600 106.0 158.0 (C10 C6 5v S-1 A -50 112.0 152.0 |N13 N5 44 S+3 &5 510 130.0 134.0
J10 J7 5# N= #9 600 106.0 158.0 (H10 H7 5v N-1 46 -50 112.0 152.0 |Q13 Q5 44 S+3 #6 510 130.0 134.0
N10 N6 5# N = #9 600 106.0 158.0 (A1l A4 5v N-1 46 -50 112.0 152.0 |R13 R18 44 N+3 42 510 130.0 134.0
010 O6 5# N-= #9 600 106.0 158.0 (015 O5 5v N-1 *J -50 112.0 152.0 |C14 C12 44 S+3 v7 510 130.0 134.0
D13 D4 5# N= v4 600 106.0 158.0 |F16 F13 5v S-1 7 -50 112.0 152.0 |D14 D12 44 S+3 &6 510 130.0 134.0
G13 G4 584 N= v4 600 106.0 158.0 |F20 F30 5v N-1 &K -50 112.0 152.0 |E14 E5 44 S+3 5 510 130.0 134.0
N13 N4 5& N-= v4 600 106.0 158.0 | F21 F27 5v N-1 2 -50 112.0 152.0 [IM14 M11 44 S+3 v9 510 130.0 134.0
Q13 Q4 5# N= oA 600 106.0 1580 C1 C8 5¢vDN-1 &K -100 73.0 191.0(N15 N6 44 N+3 48 510 130.0 134.0
N14 N11 5# N= v7 600 106.0 158.0| D1 D8 5¢DN-1 ¢6 -100 73.0191.0(015 O6 44 S+3 &5 510 130.0 134.0
R14 R15 5# N= v4 600 106.0 158.0| J1 J2 5¢vDN-1 42 -100 73.0 191.0(M16 M4 44 S+3 ¢Q 510 130.0 134.0
Cl15 C5 5&N= v4 600 106.0 158.0| F2 F14 DN-1 &K -100 73.0191.0|D17 D1 44 S+3 ¢Q 510 130.0 134.0
F15 F25 5# N = A 600 106.0 158.0( 12 I8 DN-1 &K -100 73.0191.0|F17 F14 44 S+3 vT 510 130.0 134.0
N15 N5 5# N= v4 600 106.0 158.0| L2 L8 DN-1 &K -100 73.0191.0|R17 R14 44 S+3 vT 510 130.0 134.0
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11 112 3« N+2 v4 150 25.0 239.0( 11 112 5 O = ¢A -400 21.0 243.0 (E10 E13 44 S+2 &7 480 34.0 230.0
E3 E5 2NN+1 ¢7 150 25.0 239.0| N1 N8 5# V= vQ -400 21.0243.0|010 O16 44 S+2 +5 480 34.0 230.0
L6 L9 24 N+3 v4 150 25.0 239.0| E3 E5 54 0= vK -400 21.0 243.0|N11 N7 44 S+2 T 480 34.0 230.0
Q7 Q9 24 N+3 A 150 25.0 239.0 | K3 K10 5¢ V= #8 -400 21.0 243.0(D13 D5 44 S+2 46 480 34.0 230.0
D14 D11 3# N+2 &3 150 25.0 239.0| G6 G2 5% O= vK -400 21.0243.0|G13 G5 44 S+2 +5 480 34.0 230.0
M15 M9 2NS+1 &5 150 25.0 239.0| L6 L9 5#V= vQ -400 21.0 243.0|014 O12 44 S+2 T 480 34.0 230.0
015 O5 3&aN+2 v7 150 25.0 239.0| E9 E12 54 O = ¢A -400 21.0 243.0 (M15 M10 44 S+2 v9 480 34.0 230.0
Cl6 C9 24 N+3 v7 150 25.0 239.0| P9 P13 54 O = ¢A -400 21.0 243.0(R15 R16 44 N+2 vQ 480 34.0 230.0
016 09 34 N+2 #A 150 25.0 239.0 (M10 M14 5# V= vK -400 21.0 243.0|N17 N1 44 S+2 &J 480 34.0 230.0
R16 R13 3&# N+2 v4 150 25.0 239.0 [N10 N6 5& V= vQ -400 21.0 243.0|R19 R12 44 S+2 &5 480 34.0 230.0
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R20 R9 44 N+1 #3 150 25.0 239.0|010 O6 5% O = ¢4 400 21.0 243.0 (F21 F30 44 S+2 ¢Q 480 34.0 230.0
F21 F27 INN+2 43 150 25.0 239.0 |P10 P15 5# O = vK -400 21.0 243.0|R21 R10 44 S+2 +Q 480 34.0 230.0
R21 R8 44 N+1 &9 150 25.0 239.0 [IM11 M2 5# O = vK -400 21.0243.0|P24 P8 44 S+2 T 480 34.0 230.0
R22 R4 44 S+1 vA 150 25.0 239.0|G12 Gl 54 0O= ¢A -400 21.0243.0( Q6 Q9 3NN+2 &2 460 10.0 254.0
P9 P13 3&aN+1 T 130 8.0 256.0 (C14 C11 5# O = ¢A -400 21.0243.0( J4 J6 44 S+1 46 450 7.0 257.0
F12 F1 14 N+1 +8 110 5.0 259.0|C16 C9 5# 0O = v2 -400 21.0243.0|F10 F7 44 S+1 5 450 7.0 257.0
F22 F24 24 N= +9 110 5.0 259.0 |D17 D12 5# O = ¢A -400 21.0 243.0(G12 G14 34 S+4 +Q 260 3.0 261.0
N1 N8 5& N-1 A -100 1.0 263.0 (017 O12 5# O = v2 -400 21.0 243.0|F22 F27 24 S+5 T 260 3.0 261.0
K12 K1 6# N-1 A -100 1.0 263.0| Q3 Q10 54DO= ¢A -550 0.0 264.0| K7 K3 64 S-1 »5 -50 0.0 264.0
Al - 104.5 Al - 104.5 Al - 104.5
- L14 98.3 - L14 98.3 - L14 98.3
- M16 139.1 - M16 139.1| E2 - 134.0
- E13 127.3 - E13 127.3| K4 - 118.8
19 - 106.1 19 - 106.1 19 - 106.1
- C4 122.1 - C4 122.1 |M12 - 161.5
- 04 106.0 - 04 106.0 - C5 124.7
K14 - 180.0 K14 - 180.0 - 05 136.3
N17 - 126.5 N17 - 126.5 N14 - 178.0
10 4 ED873 Basta kontrakt 11 4 Kn9 Basta kontrakt 12 4 Kn3 Basta kontrakt
Ost v 843 34 O =-110 Syd v 943 2NT S =120 Vast v Kn98 3NTV =-400
Alla ¢ E93 Ingen + EK82 NS + D32
»82 & ¢ v & NT #EKD6 & ¢ v & NT #87653 & ¢ v & NT
4 KKn9542 46 N4 7 4 44 4 EK853 41072 N9 87 7 8 4 K1065 4982 N53 344
v E1065 v DKn9 S 47 444 vK vDKn1087 S 9 8 7 7 8 vKD74 vE106 S 53444
¢7 ¢ 10642 09 6 886 ¢+ DKn65 4973 035665 + EK6 ¢ 10975 089999
&EKn #KD1075 V96 886 #843 #Kn9 V35665 #K9 D102 V89999
410 « D64 4 ED74
v K72 v E652 v 532
+ KDKn85 + 104 + Kn84
#9643 210752 #EKn4
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
P5 P17 24DV-3 #8 800 2640 0.0|R16 R17 34DV-3 &J 500 264.0 00| P1 P22 2NV-3 5 150 264.0 0.0
F1 F2 44DV-2 ¢A 500 259.0 50| D2 D17 34 V-4 #A 200 2620 20| K2 K3 3NO-2 4 100 2580 6.0
R8 R2 44DV-2 ¢A 500 259.0 50| Q1 Q14 34 V-3 #A 150 252.0 12.0( N2 N17 3NO-2 +4 100 258.0 6.0
G13 G5 2NO-5 ¢K 500 259.0 5.0 A3 Al INN+2 ¢Q 150 252.0 12.0| Q7 Q10 3NV-2 vJ 100 258.0 6.0
D17 D1 44DV-2 #8 500 259.0 5.0| M8 M10 34 V-3 «A 150 252.0 12.0(R14 R19 3NO-2 v2 100 2580 6.0
M1 M8 4v V-3 8 300 252.0 120( 19 14 INS+2 ¢6 150 252.0 12.0(015 O7 3NV-2 8 100 258.0 6.0
Ql Q2 34 V-3 #8 300 252.0 12.0(Al11 A5 INN+2 42 150 2520 120| H5 H7 3NO-1 4 50 241.0 23.0
N2 N9 4e V-3 ¢3 300 252.0 12.0(D14 D1 4e V-3 ¢A 150 2520 120 R5 R7 2NV-1 2 50 2410 23.0
Gl G2 2NO-2 ¢K 200 233.0 31.0(N15 N7 INN+2 42 150 2520 120| H6 H1l 3NO-1 a7 50 2410 23.0
D2 D9 3#0-2 4T 200 233.0 31.0(D18 D9 2NN+1 vQ 150 252.0 120( 19 14 3NV-1 8 50 241.0 23.0
M2 M6 24 V-2 8 200 233.0 31.0(F25 F17 2NS+1 A 150 252.0 12.0(A10 A8 3NV-1 «8 50 2410 23.0
L3 L9 3a V-2 #8 200 2330 31.0( M1 M4 3#N+1 &7 130 236.0 28.0|All A5 3NO-1 4 50 2410 23.0
B4 B3 44 V-2 #8 200 2330 31.0( H2 H3 3#N+1 T 130 236.0 28.0|D13 D6 3NO-1 4 50 241.0 23.0
04 03 2v V-2 ¢A 200 233.0 31.0( P6 P18 4# N= vT 130 236.0 28.0|N14 N1 2v V-1 «8 50 2410 23.0
H5 H7 2v V-2 #8 200 2330 31.0( J9 J4 24N+2 42 130 236.0 28.0|R16 R17 3NO-1 4 50 2410 23.0
17 16 24 V-2 #8 200 233.0 31.0(D13 D6 3#N+1 T 130 236.0 28.0|N18 N9 3NO-1 v3 50 2410 23.0
A9 A4 44DV-1 ¢A 200 233.0 31.0(N14 N1 2&#N+2 42 130 236.0 28.0(R22 R6 24 V-1 #K 50 2410 230
19 14 24 V-2 ¢A 200 233.0 31.0(N16 N11 3#S+1 vK 130 236.0 28.0(F25 F17 3NO-1 4 50 241.0 23.0
H10 H8 2v V-2 8 200 233.0 31.0( B2 Bl 2NN= T 120 216.0 48.0| A3 Al INV= »8 -90 226.0 38.0
N10 N16 24 V-2 #8 200 2330 310| C2 C17 INS+1 #A 120 216.0 480| N5 N4 INV= »8 -90 226.0 38.0
010 016 24 V-2 ¢A 200 2330 310 F2 F3 2NN= 42 120 216.0 48.0|G13 G6 INV= »8 -90 226.0 38.0
Cll C7 24 V-2 8 200 233.0 31.0| J2 J3 INN+1 vJ 120 216.0 480| P5 P16 2&# N-1 +5 -100 222.0 42.0
M13 M5 2v V-2 8 200 2330 310 E3 E9 INN+1 T 120 216.0 48.0| D3 D10 3¢ V= ¢2 -110 216.0 48.0
Cl14 C12 34 V-2 #8 200 233.0 31.0( G5 G12 INS+1 48 120 216.0 480|Fl11 F8 2¢ O+1 44 -110 216.0 48.0
C2 C9 24V-1 8 100 180.0 84.0| K5 K12 INS+1 43 120 216.0 48.0| 112 12 24 V= 8 -110 216.0 48.0
H2 H3 24 V-1 +3 100 180.0 84.0| L6 L8 2NS= A 120 216.0 480(L14 L5 2v V= 3 -110 216.0 48.0
P2 P25 2N O-1 +8 100 180.0 84.0| Q8 Q4 2NS= oA 120 216.0 48.0 (P25 P9 24 V= 8 -110 216.0 48.0
D4 D3 3#0-1 T 100 180.0 84.0| Q9 Q11 2NN= 42 120 216.0 480( Q1 Q14 INV+1 &5 -120 194.0 70.0
G4 G11 3v V-1 «8 100 180.0 84.0( 110 18 INS+1 #A 120 216.0 48.0| D2 D17 INV+1l 48 -120 1940 70.0
N4 N3 l1e V-1 #8 100 180.0 84.0(018 09 INN+1 42 120 216.0 48.0| F2 F3 2NV= v8 -120 194.0 70.0
Q4 Q11 24 V-1 ¢A 100 180.0 84.0 (F23 F27 INS+1 4K 120 216.0 48.0| G2 G3 INV+l #8 -120 1940 70.0
K6 K9 2& V-1 8 100 180.0 84.0( P4 P14 3#N-= 42 110 192.0 720| P4 P14 INV+1 &8 -120 194.0 70.0
L6 L8 24 V-1 8 100 180.0 84.0| H6 H1l 3% S= A 110 192.0 720| D5 D4 INV+1l &6 -120 194.0 70.0
Q6 Q9 24 V-1 8 100 180.0 84.0(Q13 Q6 24 N+1 vQ 110 1920 720| O5 O4 2NV= 8 -120 194.0 70.0
A7 A6 24 V-1 8 100 180.0 84.0(R14 R19 3# N-= 42 110 192.0 720( J6 J1 INV+1l &7 -120 194.0 70.0
G7 G3 24 V-1 ¢A 100 180.0 84.0(C18 C9 2#S+1 4A 110 1920 720| 17 16 INV+1l &3 -120 1940 70.0
P7 P22 24 V-1 ¢A 100 180.0 84.0(F18 F15 2 N+1 vJ 110 192.0 72.0(L11 L10 2NO= &4  -120 194.0 70.0
Q7 Q3 24 V-1 #2 100 180.0 84.0(N18 N9 3#S= A 110 192.0 72.0(012 O8 INV+1l #8 -120 194.0 70.0
G8 G10 24 V-1 #8 100 180.0 84.0(R20 R13 2# N+1 47 110 1920 72.0|Q13 Q6 INV+l ¢2 -120 1940 70.0
F9 F24 3v V-1 8 100 180.0 84.0 |F24 F14 34 S= 4K 110 192.0 72.0(N15 N7 2NV= 4J -120 194.0 70.0
H9 H4 24 V-1 8 100 180.0 84.0(P24 P2 2v S= 48 110 192.0 72.0(F20 F21 INV+1 &8 -120 194.0 70.0
J9 J4 24 V-1 #8 100 180.0 84.0(P25 P9 3#S= A 110 192.0 72.0(F22 F30 INV+1 48 -120 194.0 70.0
C10 C16 24 V-1 ¢A 100 180.0 84.0( R1 R11 24 V-2 A 100 160.0 104.0(F23 F27 INO+1 48 -120 194.0 70.0
D10 D16 4v V-1 8 100 180.0 840 G2 G3 24 V-2 «K 100 160.0 104.0 (F26 F12 INV+1 &8 -120 194.0 70.0
E11l E12 24 O-1 8 100 180.0 84.0( L2 L7 34 V-2 #A 100 160.0 104.0( M1 M4 2v V+1 «J -140 168.0 96.0
L11 L10 24 V-1 ¢A 100 180.0 84.0( R2 R10 24 V-2 #A 100 160.0 104.0| G8 G4 3v V= 8 -140 168.0 96.0
N1l N7 2v V-1 8 100 180.0 84.0( C3 C10 34 V-2 «A 100 160.0 104.0( 111 I5 2v V+1 #J -140 168.0 96.0
P11 P16 2v V-1 +3 100 180.0 84.0| B4 B3 2NV-2 #A 100 160.0 104.0 (M13 M6 1lv V+2 «J -140 168.0 96.0
L12 L4 24 V-1 8 100 180.0 84.0( D5 D4 24 V-2 «K 100 160.0 104.0(C18 C9 2v V+1 &3 -140 168.0 96.0
K13 K5 24 V-1 ¢A 100 180.0 84.0| E5 E7 34 V-2 #A 100 160.0 104.0 (018 09 2v V+1 4J -140 168.0 96.0
L14 L5 24 V-1 ¢A 100 180.0 84.0( H5 H7 24 V-2 #A 100 160.0 104.0(F19 F9 2v V+1 &8 -140 168.0 96.0
Cl5 C6 24 V-1 8 100 180.0 84.0( P5 P16 34 V-2 #A 100 160.0 104.0 ([F28 F6 3v V= ¢+2 -140 168.0 96.0
D15 D6 24 V-1 ¢A 100 180.0 84.0| R5 R7 34 V-2 ¢A 100 160.0 1040 (F29 F1 3v V= «J -140 168.0 96.0
M16 M4 24 V-1 #2 100 180.0 84.0( 17 16 34 V-2 #A 100 160.0 104.0| G1 G14 INV+2 48 -150 121.0 143.0
N18 N8 24 V-1 8 100 180.0 84.0( A9 A4 34 V-2 ¢A 100 160.0 104.0( J2 J3 INV+2 &7 -150 121.0 143.0
F19 F20 24 V-1 ¢A 100 180.0 84.0( G9 G11 34 V-2 #K 100 160.0 1040| Q2 Q3 INV+2 «J -150 121.0 143.0
P20 P6 24 V-1 ¢A 100 180.0 84.0( H9 H4 34 V-2 #A 100 160.0 1040 R2 R10 INO+2 47 -150 121.0 143.0
P21 P19 24 V-1 43 100 180.0 84.0(Fl11 F8 24 V-2 ¢A 100 160.0 1040 C3 C10 INV+2 43 -150 121.0 143.0
R22 R5 24 V-1 #8 100 180.0 84.0 (P11 P15 24 V-2 #A 100 160.0 1040| E3 E9 2NO+1 44 -150 121.0 143.0
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-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
-180
-180
-180
-180
-180
-180
-180
-180
-180
-180
-180
-200
-200
-200
-300
-360
-400
-400
-400
-400
-400
-400
-400
-400
-400
-400
-400
-400
-400
-400
-400
-400
-400
-400
-420
-430
-430
-430
-430
-430
-430
-960

121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0
121.0

72.0

72.0

72.0

72.0

72.0

72.0

72.0

72.0

72.0

72.0

72.0

ONNNNNNPW®
coooooooo

126.8

143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
143.0
192.0
192.0
192.0
192.0
192.0
192.0
192.0
192.0
192.0
192.0
192.0
206.0
206.0
206.0
210.0
212.0
231.0
231.0
231.0
231.0
231.0
231.0
231.0
231.0
231.0
231.0
231.0
231.0
231.0
231.0
231.0
231.0
231.0
231.0
250.0
257.0
257.0
257.0
257.0
257.0
257.0
264.0
133.9
118.7
106.7
126.0

170.7
143.2
110.8
156.7
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13 410642
Nord vE
Alla + EKNn96
&EKN63
&« KDKn95 & E87
v 753 v K10986
+ KD ¢ 843
D109 &72
43
v DKn42
¢ 10752
K854
Par Kontr Ut
L4 L11 4v O-5 a3
11 110 3»vO -4 a3
E4 E10 2NV -3 +6
D14 D2 34 V-3 *J
Cl5 C8 3v O-3 &5
D1 D9 2v O-2 43
J1 J10 24 V-2 a2
L2 L14 24 V-2 vA
G3 G4 24DV-1 vA
K3 K4 34 V-2 &3
F5 F17 24 V-2 a2
P6 P17 3a V-2 vA
G9 G5 24 V-2 vA
F11 F14 3a4 V-2 *A
D16 D12 24DV-1 vA
D17 D3 24 V-2 a4
018 O10 3a V-2 vA
O6 O5 3¢ N+2 &A
D7 D13 4¢ N+1 vK
M13 M7 3¢ N+2 &aA
P1 P20 2¢ N+2 &A
R1 R13 2¢ N+2 &7
N7 N13 3& N+1 &A
F8 F6 3& N+1 &A
P12 P10 3¢ N+1 &A
M16 M6 3« N+1 &aA
F20 F10 2¢ S+2 &K
F29 F2 34 S+1 &K
Cl C9 INN+1 a7
K9 K5 INS+1 v7
0Ol 09 3a&S= +K
M4 M8 3¢ N= & A
04 011 3¢ N= a7
L7 L6 2¢ S+1 &K
18 17 3& N= & A
Q8 Q11 3¢ N= a A
19 15 3¢ N= s A
K10 K12 3¢ S= & A
L10 L9 3& N= a A
E1l E3 3« N= s A
111 16 2¢ N+1 &A
E12 E2 3¢ N= a A
K14 K2 3¢ N= &7
D15 D8 3¢ N= & A
Cl7 C3 3« N= a A
D18 D10 3& N= a7
P18 P16 3% N= v8
R22 R7 3¢ N= a A
P25 P3 3¢ N= s A
F1 F26 34 V-1 SA
N1 N9 34 V-1 vA
H3 H4 2NV-1 a2
C4 Cl1 24 V-1 vA
14 12 2v0-1 43
N4 N11 3 V-1 vA
P5 P15 24 V-1 a4
D6 D5 34 V-1 vA
G6 Gl 24 V-1 vA
R6 R8 24 V-1 vA
J7 J2 24 V-1 a2
A8 A7 24 V-1 vA
E9 E5 2v0O-1 a3
J9 J5 2v0-1 43
P9 P24 24 V-1 vA
Q10 Q12 24 V-1 a2
F12 F9 24 V-1 vA
M12 M15 24 V-1 vA
E13 E1 24 V-1 vA
E14 E7 24 V-1 a5
N14 N2 34 V-1 vA
014 02 24 V-1 vA
N15 N8 34 V-1 vA
R15 R20 24 V-1 vA
Cl18 C10 34 V-1 *A
N18 N10 24 V-1 vA
P22 P8 24 V-1 vA
F23 F30 24 V-1 vA
B3 B2 2¢ N= a7
J3 J4 INS= a]

Basta kontrakt 14 4987 Basta kontrakt 15 4 Kn1096
4¢ N =130 Ost v43 44 O D -2 300 Syd v EK96
Ingen + EK654 NS + EKn109
& ¢ v & NT #E102 & ¢ v & NT &Kn
N 10106 5 6 « EDKn65 & K1043 N 5 8 105 5 & 842 « EKD7
S 10106 5 6 vKKn vE2 S 58 105 5 v7 v 85432
O3 3676 ¢ 109 ¢ DKn3 084387 +D87654 ¢2
V33676 #8653 D974 V 84387 +KD4 #862
a2 53
vD1098765 v DKn10
+ 872 + K3
#KKn #E109753
Res Poang Par Kontr ut Res Poang Par Kontr ut
500 264.0 00| G3 G4 54DO-3 ¥5 500 264.0 0.0| HLI HI0O 3NN+1 #A
400 2620 20| L2 L14 44DO-2 ¥5 300 2560 80| I1 110 3NN+1 &A
300 2580 60| H6 H8 44DV-2 ¢A 300 2560 8.0| J1 JI0O 3NN+1 &K
300 258.0 6.0 AB A7 44DO-2 v8 300 2560 80| J3 J4 3NN+l @A
300 2580 6.0 F8 F6 44DV-2 v4 300 2560 8.0| P3 P24 3NN+1 &A
200 243.0 21.0( I8 17 54DV-2 ¢A 300 2560 8.0| E5 E11 3NN+1 &A
200 243.0 21.0(R10 R4 44DV-2 &A 300 256.0 8.0| P6 P16 3NN+1 #4A
200 243.0 21.0(M16 M6 44DV-2 ¢K 300 256.0 8.0| D8 D13 3NN+1 #A
200 243.0 210 G9 G5 3v S+l &A 170 2470 17.0| F9 F7 3NN+1 8
200 243.0 21.0(P12 P10 3v S+1 &A 170 2470 17.0| H9 H5 3NN+1 #A
200 243.0 21.0( P9 P24 2v S+1 &A 140 2400 24.0| J9 J5 3NN+1 &A
200 243.0 21.0|E11 E3 3v S= A 140 240.0 240(A11 A6 3NN+1 4A
200 243.0 21.0|(M12 M15 3v S= ¢T 140 240.0 24.0(G11 G1 3NN+l &A
200 243.0 21.0|Dl1l6 D12 3v S= 4A 140 240.0 24.0 (N11 N18 3NN+1 &A
200 243.0 21.0|018 O10 3v S= 49 140 240.0 240(E13 E3 3NN+1 4A
200 243.0 21.0| J1 J10 4e V-2 ¢+K 100 220.0 44.0 (K13 K8 3NN+l &A
200 243.0 21.0( O1 09 44DO-1 ¥5 100 220.0 44.0|L13 L5 3NN+1 &A
150 228.0 36.0| M2 M5 44 V-2 ¢A 100 220.0 44.0(P13 P11 3NN+1 4A
150 228.0 36.0| P2 P23 44DV-1 ¢K 100 220.0 44.0|D14 D3 3NN+l 4K
150 228.0 36.0| F3 F4 44 V-2 v3 100 220.0 44.0|F14 F16 3NN+1 &K
130 217.0 47.0| L3 L8 44 V-2 ¢K 100 220.0 44.0(K14 K3 3NN+l 4Q
130 217.0 47.0| A4 A2 44 O-2 +8 100 220.0 44.0(N14 N3 3NN+l &K
130 217.0 47.0| P4 P13 44 V-2 v3 100 220.0 44.0|F19 F25 3NN+1 &A
130 217.0 47.0| N7 N13 44 V-2 ¢A 100 220.0 440(F20 F17 3NN+1 4A
130 217.0 47.0| Q8 Q11 44 V-2 v4 100 2200 44.0|F24 F30 3NN+1 2
130 217.0 47.0|K13 K7 44 O-2 v5 100 220.0 44.0|P26 P22 3NN+1 &A
130 217.0 47.0|E14 E7 44DV-1 ¢A 100 220.0 440| E1 E2 3NN= s A
130 217.0 47.0|R15 R20 44DV-1 K 100 220.0 44.0| R1 R15 3NN= s K
120 207.0 57.0 |F23 F30 44 V-2 v4 100 2200 44.0| F2 F26 3NS= +8
120 207.0 57.0|P25 P3 44 V-2 ¢K 100 220.0 44.0| L2 L14 3NN= s A
110 186.0 78.0| C1 C9 34 V-1 v4 50 143.0 121.0| 02 010 3NN= LY
110 186.0 78.0| D1 D9 44 O-1 vT 50 143.0 121.0| B3 B2 3NN= 2
110 186.0 78.0| F1 F26 44 O-1 v9 50 1430 1210 H3 H4 3NS= +6
110 186.0 78.0| H1 H10 44 O-1 v7 50 143.0 121.0| A4 A2 3NN= s K
110 186.0 78.0| M1 M14 44 V-1 ¢A 50 143.0121.0| G4 G5 3NN= s A
110 186.0 78.0| N1 N9 44 V-1 ¢A 50 143.0 121.0| F6 F18 3NN= 4Q
110 186.0 78.0| P1l P20 44 V-1 ¢K 50 143.0121.0| H6 H8 3NN= s A
110 186.0 78.0| R1 R13 44 V-1 ¢A 50 143.0121.0| I8 17 3NN= s A
110 186.0 78.0| H3 H4 34 V-1 v3 50 143.0121.0| G9 G12 3NN= s A
110 186.0 78.0| Q3 Q4 44 O-1 ¢K 50 143.0121.0| 19 I5 3NS= 2Q
110 186.0 78.0| R3 R11l 44 V-1 ¢A 50 143.0 121.0 [G10 G6 3NN= s A
110 186.0 78.0| B4 Bl 44 O-1 vQ 50 143.0 121.0|R10 R6 3NN= s A
110 186.0 78.0| D4 D11 44 V-1 ¢A 50 143.0 121.0 [C11 C18 3NN= s A
110 186.0 78.0| E4 E10 44 V-1 ¢A 50 143.0 121.0 (D11 D18 3NN= s A
110 186.0 78.0| L4 L11 44 V-1 v4 50 14301210111 16 3NS= +6
110 186.0 78.0 M4 M8 44 V-1 ¢A 50 143.0121.0(R11 R5 3NS= 46
110 186.0 78.0| N4 N11 34 O-1 ¢2 50 143.0 121.0 (D16 D1 3NS= ¢+ 4
110 186.0 78.0| F5 F17 44 V-1 v2 50 143.0 121.0|D17 D4 3NN= s A
110 186.0 78.0| P5 P15 44 V-1 ¢A 50 143.0 121.0 [N17 N4 3NN= s A
100 139.0 125.0| D6 D5 44 V-1 ¢A 50 143.0 121.0 [R18 R19 3NN= 4 Q
100 139.0 125.0| K6 K1 44 O-1 v5 50 1430 121.0(F28 F8 3NN= a K
100 139.0 125.0| N6 N5 44 V-1 ¢A 50 143.0 121.0 (M13 M8 INS+5 45
100  139.0 125. P6 P17 4a4 V-1 «A 50 143.0 121.0| Al A10 2NN+2 &A
100 139.0 125.0| Q6 Q1 44 V-1 ¢A 50 14301210 R3 R13 INS+3 ¢3
100 139.0 125.0| R6 R8 44 O-1 v6 50 143.0 121.0| L4 L11 2NN+2 &A
100  139.0 125.0| D7 D13 34 V-1 ¢A 50 143.0 121.0 | M4 M11 2NN+2 &K
100 139.0 125.0| H7 H2 44 O-1 8 50 143.0121.0( R4 R12 2NN+2 &Q
100 139.0 125.0| J7 J2 44 V-1 v4 50 143.0 121.0| M7 M16 2NN+2 &K
100  139.0 125.0| G8 G11 44 V-1 ¢A 50 143.0 121.0 [K1I0 K6 2NN+2 &A
100 139.0 125.0| A9 A5 44 O-1 v6 50 143.0 121.0|017 O4 2N N+2 &A
100 139.0 125.0| H9 H5 44 O-1 42 50 143.0121.0(L10 L9 2v N+2 &A
100 139.0 125.0| J9 J5 44 V-1 v4 50 143.0 121.0| P1 P19 2NN+1 v2
100 139.0 125.0| K9 K5 44 O-1 vT 50 143.0 121.0| M2 M14 2NN+1 v3
100 139.0 125.0| R9 R5 44 V-1 v4 50 143.0 121.0| P2 P21 2NN+1 &A
100 139.0 125.0 (G10 G12 34 V-1 ¢+K 50 143.0 121.0( M5 M9 2NN+1 &A
100 139.0 125.0|L10 L9 44 V-1 v4 50 143.0 121.0| D7 D6 2NN+1 &A
100 139.0 125.0 ([F11 F14 44 V-1 #A 50 143.0 121.0( H7 H2 2NN+1 &A
100 139.0 125.0 [E12 E2 44 V-1 v4 50 143.0 121.0| N7 N6 2NN+1 v2
100 139.0 125.0 |F12 F9 44 V-1 ¢A 50 143.0 121.0( A8 A7 2NN+1 &A
100 139.0 125.0 ([E13 E1 34 V-1 v4 50 143.0 121.0| P8 P20 2N N+1 &A
100  139.0 125.0 |G13 G7 44 V-1 ¢K 50 143.0 121.0| Q9 Q12 2NN+1 &A
100 139.0 125.0|L13 L5 44 O-1 vT 50 143.0 121.0|E12 E4 2NN+1 +v3
100 139.0 125.0 (D14 D2 34 V-1 v4 50 143.0 121.0|C15 C9 INS+2 5
100  139.0 125.0 |G14 G2 44 V-1 ¢A 50 143.0 121.0(D15 D9 2NN+1 #K
100  139.0 125.0 |K14 K2 44 O-1 ¢7 50 143.0 121.0(M15 M1 34 O-3 *A
100 139.0 125.0 [N14 N2 44 V-1 ¢A 50 143.0 121.0{R22 R8 2NN+1 &A
100 139.0 125.0 (014 02 34 V-1 ¢A 50 143.0121.0( B4 Bl 3v N= 2
90 108.0 156.0 |Q14 Q2 4e V-1 ¢A 50 143.0121.0( Q4 Q5 2y N+1 &A
90 108.0 156.0 |D15 D8 3NV-1 v4 50 143.0 121.0| J6 J8 1v N+2 &A
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Basta kontrakt

2NT S =120
& ¢ v & NT
N8 6 87 8
S 8687 8
0465565
V465055
Res Poang
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
630 238.8 25.2
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
600 187.4 76.6
240 161.2 102.8
180 152.2 111.8
180 152.2 111.8
180 152.2 111.8
180 152.2 111.8
180 152.2 111.8
180 152.2 111.8
180 152.2 111.8
180 152.2 111.8
170  143.1 120.9
150 127.0 137.0
150 127.0 137.0
150 127.0 137.0
150 127.0 137.0
150 127.0 137.0
150 127.0 137.0
150 127.0 137.0
150 127.0 137.0
150 127.0 137.0
150 127.0 137.0
150 127.0 137.0
150 127.0 137.0
150 127.0 137.0
150 127.0 137.0
150 127.0 137.0
140  105.8 158.2
140  105.8 158.2
140  105.8 158.2




K13 K7 INN= v6 90 108.0 156.0 |IN15 N8 4e V-1 ¢A 50 143.0121.0( P7 P18 2¢v N+1 v2 140 105.8 158.2
L3 L8 1la V= vA -80 103.0 161.0 |O16 O12 44 O-1 «A 50 143.0121.0(G13 G8 2y N+1 2 140 105.8 158.2
Ql4 Q2 1la V= vA -80 103.0 161.0 |R17 R18 44 V-1 v3 50 143.0121.0|F29 F3 2vy N+1 &4A 140 105.8 158.2
M2 M5 INN-1 47 -100 90.0 174.0 (C18 C10 44 O-1 +8 50 143.0 121.0 | N2 N10 2N N= A 120 91.7 172.3
R3 R11 4¢ S-1 4K -100 90.0 174.0 (D18 D10 44 V-1 ¢A 50 143.0121.0|( C5 C12 INS+1 ¢4 120 91.7 172.3
B4 Bl 1a N-1 «7 -100 90.0 174.0 |[F18 F25 44 V-1 #A 50 143.0 121.0| O5 012 2NN= 4K 120 91.7 172.3
H6 H8 INS-1 4K -100 90.0 174.0 (F19 F16 44 V-1 v4 50 143.0 121.0| J7 J2 2NN= &K 120 91.7 172.3
Q6 Q1 3&#N-1 vT -100 90.0 174.0|R19 R16 44 V-1 v4 50 143.0 121.0 |M10 M12 2NN = aA 120 91.7 172.3
G8 G11 INN-1 4A -100 90.0 174.0 ([F21 F22 44 V-1 ¢A 50 143.0 121.0 [O11 O18 2N N= aA 120 91.7 172.3
H9 H5 INS-1 4K -100 90.0 174.0 (P21 P26 44 V-1 ¢A 50 143.0 121.0 ([O14 O3 2NN= &K 120 91.7 172.3
R9 R5 34 N-1 A -100 90.0 174.0 |[R21 R14 4e V-1 ¢A 50 143.0 121.0 [N15 N9 2NN= aA 120 91.7 172.3
L13 L5 INN-1 47 -100 90.0 174.0 [F24 F27 44 O-1 vT 50 143.0 121.0| F1 F10 2v N= A 110 77.6 186.4
016 012 44 N-1 A -100 90.0 174.0 (F28 F7 44 V-1 ¢K 50 143.0 121.0 | N8 N13 2v N= +2 110 77.6 186.4
F24 F27 3¢ N-1 4A -100 90.01740| R2 R12 5v S-1 *T -50 70.0 194.0|Q14 Q3 3&S-= v7 110 77.6 186.4
Al A10 24 V= vA -110 49.0 215.0| B3 B2 5v S-1 5 -50 70.0 194.0|015 09 2v N= A 110 77.6 186.4
M1 M14 24 V= vA -110 49.0 215.0| C4 C11 5v S-1 »5 -50 70.0 194.0|N16 N1 3 S= +4 110 77.6 186.4
P2 P23 24 V= ¢A -110 49.0 2150 L7 L6 4v S-1 *T -50 70.0 194.0|F22 F23 1v N+1 «A 110 77.6 186.4
R2 R12 24 V= vA -110 49.0 215.0|A11 A6 4v S-1 s A -50 70.0 194.0| C2 C10 34 O-2 vQ 100 64.5 199.5
F3 F4 14 V+1 vA -110 49.0 215.0 (M13 M7 5v S-1 s A -50 70.0 194.0| P5 P14 24 O-2 A 100 64.5 199.5
Q3 Q4 14V+1l vA -110 49.0 215.0(C14 C2 4v S-1 s A -50 70.0 194.0| G7 G2 34 O-2 A 100 64.5 199.5
Ad A2 24 V= vA -110 49.0 215.0|P14 P11 4v S-1 s A -50 70.0 194.0| R7 R9 3¢ V-2 vA 100 64.5 199.5
P4 P13 24 V= #A -110 49.0 215.0 (D17 D3 4v S-1 s A -50 70.0 194.0 |G14 G3 34 O-2 A 100 64.5 199.5
J6 J8 24 V= vA -110 49.0 215.0|F20 F10 4v S-1 s A -50 70.0 194.0|C16 C1 3¢ V-2 «J 100 64.5 199.5
P7 P19 24 V= vA -110 49.0 215.0|F29 F2 5v S-1 s A -50 70.0 194.0 |F21 F11 24 O-2 vT 100 64.5 199.5
A9 A5 24 V= vA -110 49.0 215.0| P7 P19 5v S-2 4A -100 55.0209.0| C7 C6 INS= 7 90 55.4 208.6
M9 M11 24 V= vA -110 49.0 2150| 19 I5 5¢v S-2 4A -100 55.0209.0( L7 L6 2#S= v7 90 55.4 208.6
Q9 Q5 24 V= vA -110 49.0 215.0| M9 M1l 5v S-2 A -100 55.0 209.0 (P10 P25 1INV-1 +9 50 51.4 212.6
G10 G12 24 V= vA -110 49.0 215.0|015 08 4v S-2 A -100 55.0 209.0 [R16 R21 2¢ V-1 +J 50 51.4 212.6
All A6 2v O= 43 -110 49.0 215.0( 1 110 24 V= ¢A -110 48.0216.0( 4 12 2¢v N-1 4A -100 32.3 231.8
F13 F15 24 V= vA -110 49.0 215.0| 14 12 24 V= v3 -110 48.0216.0| K4 K5 3v N-1 A -100 32.3 231.8
G13 G7 1la V+1 vA -110 49.0 215.0|P22 P8 24 V= ¢A -110 48.0 216.0( D5 D12 3# N-1 ¢+2 -100 32.3 231.8
Q13 Q7 24 V= vA -110 49.0 215.0| Al A10 34 O= vT -140 29.0 235.0| K7 K2 3v N-1 4A -100 32.3 231.8
Cl4 C2 24 V= vA -110 49.0 2150 J3 J4 34 V= ¢+K -140 29.02350( O7 O6 3#N-1 A -100 32.3 231.8
P14 P11 24 V= vA -110 49.0 215.0| O4 O11 34 V= ¢A -140 29.02350( Q7 Q2 2v N-1 4A -100 32.3 231.8
C16 C12 24 V= vA -110 49.0 215.0| G6 Gl 34 V= ¢A -140 29.0 2350 A9 A5 3NN-1 4A -100 32.3 231.8
N17 N3 24 V= vA -110 49.0 2150 J6 J8 34 V= v3 -140 29.0 235.0| K9 K12 3NN-1 v2 -100 323 231.8
017 O3 24 V= #3 -110 49.0 2150 O6 O5 34 O= v7 -140 29.0 235.0|E10 E6 2NN-1 «Q -100 32.3 231.8
R17 R18 24 V= vA -110 49.0 215.0| E9 E5 34 O= vT -140 29.0 235.0|Q10 Q6 2v N-1 v3 -100 32.3 231.8
F18 F25 24 V= vA -110 49.0 2150 Q9 Q5 34 V= v3 -140 29.0 235.0|P12 P4 3v N-1 A -100 32.3 231.8
F19 F16 24 V= vA -110 49.0 215.0 |K10 K12 34 V= v4 -140 29.0 235.0 |F13 F27 3v N-1 4A -100 32.3 231.8
F21 F22 24 V= vA -110 49.0 215.0|F13 F15 34 V= v4 -140 29.0 235.0|Q13 Q8 3& N-1 4A -100 32.3 231.8
P21 P26 24 V= vA -110 49.0 215.0|C15 C8 24 V+1 ¢A -140 29.0235.0(C14 C3 34 N-1 ¢+2 -100 32.3 231.8
R21 R14 24 V= vA -110 49.0 215.0|C16 C12 34 V= v3 -140 29.0 235.0|016 O1 3v N-1 4K -100 32.3 231.8
F28 F7 24 V= 4A -110 49.0 215.0 [N17 N3 34 V= ¢A -140 29.0 235.0 (P17 P15 3NN-1 4A -100 32.3 231.8
Gl4 G2 24 V+1 vA -140 18.0 246.0|017 O3 34 V= ¢A -140 29.0 235.0 (R20 R17 3NN-1 4A -100 323 2318
H1 H10 INS-2 4K -200 11.0 253.0 [N18 N10 34 V= v4 -140 29.0 235.0| D2 D10 4v N-2 sA  -200 8.1 255.9
C6 C5 3NN-2 4A -200 11.0 253.0 (P18 P16 34 V= ¢4  -140 29.0 235.0( R2 R14 4v N-2 ¢2 -200 8.1 255.9
K6 K1 1a N-2 &7 -200 11.0 253.0(Q13 Q7 34 V+1 &A -170 12.0 252.0| L3 L8 3#S-2 v7 -200 8.1 255.9
H7 H2 INS-2 4K -200 11.0253.0( K3 K4 5vDS-2 «4A -300 7.0 257.0(Q11 Q1 3v N-2 aA  -200 8.1 255.9
R10 R4 3¢ N-2 4A -200 11.0 253.0 Q10 Q12 5vDS-2 T -300 7.0 257.0 [F12 F15 3v N-2 K -200 8.1 255.9
R19 R16 1NN -2 4A -200 11.0253.0( 111 16 5vDS-2 &A -300 7.0 257.0(C17 C4 3NN-2 «Q -200 8.1 255.9
015 08 3NN-3 A -300 4.0 260.0 |C17 C3 5¢vDS-2 ¢T -300 7.0 257.0 (P23 P9 2v N-2 sA  -200 8.1 255.9
N6 N5 34DV= vA -730 2.0 262.0 |[R22 R7 5vDS-3 #A -500 2.0 2620 F4 F5 4vyDN-4 &K -1100 0.0 264.0
D4 D11 4¢DN-3 #A -800 0.02640| C6 C5 3«4DV= ¢A -530 0.0 264.0 - L12 132.3
- L12 132.3 - L12 132.3 - M6 108.3
- M10 141.8 - M10 141.8| N5 - 125.7
E6 - 144.7 E6 - 144.7 C8 - 162.0
C7 - 139.4 C7 - 139.4 08 - 143.5
o7 - 150.1 o7 - 150.1 - Kl 149.4
K8 - 103.5 K8 - 103.5 - A3 143.3
- A3 143.3 - A3 143.3 | 112 - 153.5
112 - 153.5 112 - 153.5 E14 - 129.1
N16 - 157.2 N16 - 157.2 E7 E9 A-/A- 105.6 105.6
16 454 Basta kontrakt 17 4 E1032 Basta kontrakt 18 a5 Basta kontrakt
Vast v EKKn2 34 V =-140 Nord v K65 34 O =-140 Ost v KD10972 5NT O D -3 500
ov ¢ E62 Ingen +98 NS + Kn87
#D1076 & ¢ v & NT #9864 & ¢ v & NT #Kn103 & ¢ v & NT
«EDKn2 4109863 N857 45 « KKn65 D7 N55 445 & K9 4 Kn8632 N4 6 117 4
v10863 vD5 S857 46 vEKn94 v1083 S55445 v5 v EKn S 46 117 5
¢ DKn104 ¢ 753 047697 732 ¢ EK105 0889 98 ¢ 1095 ¢ D432 086 258
&K #E85 V4786297 #102 #ED53 V 889 88 #EKD9854 #76 V86258
& K7 4984 4 ED1074
v974 vD72 v 8643
+ K98 + DKn64 + EK6
#Kn9432 #KKn7 *2
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
P6 P16 44 O -2 #2 200 2640 0.0(D17 D5 44 V-3 +9 150 2640 0.0(Q11 Q7 5vDN= &7 850 264.0 0.0
P5 P14 INN+3 5 180 2620 20| F2 F11 3NO-2 ¢4 100 257.0 7.0(R22 R9 44DO-4 ¢K 800 2620 20
R4 R12 INN+2 3 150 260.0 4.0 P2 P20 3NO-2 ¢4 100 257.0 7.0( O3 011 4v N+1 &6 650 2420 22.0
02 010 4& S = ¢T 130 2539 10.1| O3 O11 2NO-2 6 100 257.0 7.0 L4 L10 4v N+1 &7 650 242.0 22.0
P12 P4 44 S= A 130 2539 10.1| N6 N1 4v V-2 49 100 257.0 7.0 M4 M7 4vy N+1 &7 650 2420 22.0
F14 F16 3#S+1 #A 130 2539 10.1| P6 P15 3NO-2 4 100 2570 7.0 R4 R14 4v N+l &7 650 2420 220
L14 L6 44 S= A 130 2539 10.1(R11 R7 4v V-2 49 100 257.0 7.0 F5 F6 4v N+1 &6 650 242.0 22.0
N16 N1 4& S= A 130 2539 10.1| A2 A10 3NV-1 42 50 229.0 350( K5 K6 4v N+1 &7 650 2420 22.0
D7 D6 3# N= +3 110 2408 23.2| H2 H10 2NO-1 49 50 2290 350 C8 C7 5v N= &7 650 242.0 22.0
K10 K6 3#S= A 110 2408 23.2( J2 J10 3NO-1 48 50 229.0 350( H8 H3 5v N= &7 650 242.0 22.0
M10 M12 3& S = A 110 2408 232 L2 L13 2NO-1 49 50 2290 350(| K8 K3 4v N+1 &6 650 2420 22.0
E12 E4 24 N+1 3 110 240.8 23.2| D3 D11 3NO-1 44 50 2290 350(Q10 Q1 5v N= 43 650 242.0 22.0
M13 M8 3& N= T 110 2408 23.2( L3 L7 2NO-1 49 50 229.0 350112 14 4y N+1 2 650 242.0 22.0
N14 N3 3&S= 4A 110 2408 23.2| B4 B2 2NO-1 ¢Q 50 2290 350(Q12 Q2 4v N+1 &7 650 2420 220
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229.0 35.0|G13 G9 5v
6 50 2290 350|N13 N9 S5v
a8 50 2290 350|E14 E9 4v
v2 50 2290 350|N16 N2 4v
49 50 2290 35.0|F20 F25 4v
¢4 50 2290 35.0|P24 P10 4v
49 50 229.0 35.0|P26 P23 4v
¢Q 50 2290 350| B4 B2 4v
2290 35.0| G4 Gl4 4v
+9 50 2290 350| Q4 Ql4 4v
¢4 50 2290 350| G5 G6 4v
a9 50 2290 35.0]| C6
v2 50 2290 350| F7 F19 4v
+Q 50 2290 350| R8 R10 4v
6 50 2290 350|R11 R7 4v
¢4 -90 204.0 60.0|R12 R6 4v
v2 90 2040 60.0|D13 D9 4v
a3  -90 2040 60.0|Q13 Q9 4v
42 -110 198.0 66.0|D16 D2 4v
42 -110 198.0 66.0|017 O5 4v

&7 650 242.0 22.0
&7 650 242.0 22.0
&7 650 242.0 22.0
&7 650 242.0 22.0
650 242.0 22.0
&7 650 242.0 22.0
#6 650 242.0 22.0
#6 620 210.0 54.0
#A 620 210.0 54.0
6 620 210.0 54.0
&7 620 210.0 54.0
&7 620 210.0 54.0
&7 620 210.0 54.0
#A 620 210.0 54.0
&7 620 210.0 54.0
&7 620 210.0 54.0
&7 620 210.0 54.0
&7 620 210.0 54.0
&7 620 210.0 54.0
&7 620 210.0 54.0

A 110 2408 232 J4 J5
oA 110 240.8 23.2| P4 P25
+8 100 2136 504 | F5 F6
vA 100 213.6 50.4| A7 All
9 100 213.6 504 (| D8 D7
¢+K 100 2136 504 Q8 Q3
v4 100 213.6 50.4|El1l1 E7
v9 100 213.6 50.4|D13 D9
#2 100 213.6 50.4 (D15 D10
v4 100 213.6 50.4|P16 P14
9 100 213.6 50.4 (017 O5
v4 100 2136 50.4|R17 R1
v7 100 213.6 50.4|C18 C12
9 100 213.6 504 (F22 F12
#6 100 213.6 504 (F26 F3
v9 100 213.6 50.4| P7 P17
v9 100 213.6 50.4|R12 R6
#2 100 213.6 504 (F29 F4
v7 100 213.6 50.4| D4 D14
v4 100 213.6 50.4| P9 P21
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#2 100 213.6 504 F20 F25 = A -110 198.0 66.0 | H2 H10 6% -3 45 500 195.0 69.0
43 90 1904 736 E1 E4 = ¢4  -120 170.0 94.0( J2 J10 5% -3 45 500 195.0 69.0
43 90 1904 736( E2 E3 +1 ¢4 -120 170.0 94.0| A2 A10 5#DV-2 &5 300 180.0 84.0
oA 90 1904 73.6( N3 N11 = ¢+Q -120 170.0 94.0( L2 L13 54DV-2 &5 300 180.0 84.0
¢+Q 90 1904 73.6| P3 P22 = ¢4 -120 170.0 94.0( H4 H5 54DV-2 45 300 180.0 84.0
aT -50 176.3 87.7| R3 R15 = 49 -120 170.0 94.0( M5 M12 54DV -2 &5 300 180.0 84.0
s A -50 176.3 87.7| G4 G14 +1 ¢4 -120 170.0 940( D6 D1 5#4DV-2 45 300 180.0 84.0
46 -50 176.3 87.7| R4 R14 = ¢+Q -120 170.0 94.0|( G8 G3 5#4DV-2 45 300 180.0 84.0
*+Q -50 176.3 87.7| K5 K6 = 42 -120 170.0 940 H9 H6 5#DV-2 45 300 180.0 84.0
LY -50 176.3 87.7| L5 L12 +1 ¢4 -120 170.0 94.0(Gl11 G7 5#DV-2 45 300 180.0 84.0
s A -50 176.3 87.7| D6 D1 = ¢4 -120 170.0 94.0 (K12 K2 54#DV-2 ¢K 300 180.0 84.0
s A -50 176.3 87.7| 17 111 = +4 -120 170.0 94.0(M13 M9 54#DV-2 &5 300 180.0 84.0
+Q -50 176.3 87.7| N8 N7 = &7 -120 170.0 94.0(C18 C12 54DV-2 45 300 180.0 84.0
s A -50 176.3 87.7| R8 R10 = v2 -120 170.0 94.0|D18 D12 54DV-2 &5 300 180.0 84.0
s A -50 176.3 87.7| J9 J6 +1 49 -120 170.0 94.0|F29 F4 54DV-2 &5 300 180.0 84.0
T -100 153.2 1108 (F10 F8 +1 ¢4 -120 170.0 94.0| B1 B3 3v N #2 200 156.0 108.0
+Q -100 153.2 110.8 (M11 M1 = 48 -120 170.0 94.0( P2 P20 3v N+2 &6 200 156.0 108.0
+Q -100 153.2 110.8 [Q11 Q7 = ¢4 -120 170.0 94.0( D3 D11 44 O-4 &2 200 156.0 108.0
2 -100 153.2 1108 112 14 = 9 -120 170.0 94.0( O4 O14 3v N+2 &6 200 156.0 108.0
A -100 153.2 110.8 Q12 Q2 +1 ¢4 -120 170.0 94.0( M6 M10 3v N+2 &6 200 156.0 108.0
A -100 153.2 110.8 [G13 G9 = +4 -120 170.0 94.0( O6 O1 3v S+2 &K 200 156.0 108.0
+J -100 153.2 110.8 [F15 F17 = 48 -120 170.0 940 Q8 Q3 3vy N+2 &7 200 156.0 108.0
A -100 153.2 110.8 (015 O10 = ¢+Q -120 170.0 94.0 (K10 K1 3v N+2 &7 200 156.0 108.0
+Q -100 153.2 110.8 [N17 N5 = +4 -120 170.0 94.0(R17 R1 3v S+2 &A 200 156.0 108.0
T -100 153.2 110.8 [R19 R20 = ¢4 -120 170.0 94.0(F22 F12 3y N+2 &6 200 156.0 108.0
+Q -100 153.2 110.8 (F28 F9 = 48 -120 170.0 94.0(F28 F9 3v S+2 &A 200 156.0 108.0
T -100 153.2 110.8( J8 J3 +2 49 -130 144.0 120.0| E6 E12 3v N+1 &7 170 137.0 127.0
+Q -100 153.2 110.8 | Q4 Q14 = +9 -140 140.0 1240 N6 N1 3v S+1 &A 170 137.0 127.0
¢K -110 1149 149.1| C6 Cl1 2v V+l &4 -140 140.0 1240| J7 J1 3vy N+1 &5 170 137.0 127.0

v4 -110 1149 149.1| O8 O7 2vV+1 +9 -140 140.0 1240( J8 J3 3v S+1 &K 170 137.0 127.0
+8 -110 1149 149.1( Bl B3 INO+2 6 -150 107.0 157.0|P13 P5 3v S+1 &K 170 137.0 127.0
4  -110 1149 149.1| R2 R16 2NO+1 ¢2 -150 107.0 157.0 |N15 N10 3v N+1 &7 170 137.0 127.0
+8 -110 1149 149.1| C3 C11 2NO+1 ¢4 -150 107.0 157.0|016 O2 3y N+1 &7 170 137.0 127.0
vA -110 1149 149.1| C4 C14 2NO+1 ¢4 -150 107.0 157.0 (018 O12 3v S+1 &K 170 137.0 127.0
v4 -110 1149 149.1| K4 K14 INO+2 49 -150 107.0 157.0| E2 E3 44 V-3 5 150 126.0 138.0
v9 -110 1149 149.1| L4 L10 2NO+1 4 -150 107.0 157.0| 12 110 5# V-3 5 150 126.0 138.0
+8 -110 1149 149.1( A5 A3 2NO+1 6 -150 107.0 157.0| N3 N11 5& V-3 5 150 126.0 138.0

v9 -110 1149 149.1| M6 M10 2NO+1 48 -150 107.0 157.0| L3 L7 3v N= &7 140 120.0 144.0
v9 -110 1149 149.1| F7 F19 INO+2 ¢4 -150 107.0 157.0( A5 A3 3v N= &7 140 120.0 144.0
vA -110 1149 149.1| H7 H1 2NO+1 +6 -150 107.0 157.0 [O15 O10 3v N= 6 140 120.0 144.0

+8 -110 1149 149.1| C8 C7 2NO+1 49 -150 107.0 157.0| A1 A8 5&V-2 5 100 103.0 161.0
vA -110 1149 149.1| K8 K3 2NO+1 +6 -150 107.0 157.0( R2 R16 24 O-2 ¢+A 100 103.0 161.0
vA -110 1149 149.1| P8 P19 2NO+1 &9 -150 107.0 157.0| P3 P22 3#DV-1 45 100 103.0 161.0
vA -110 1149 149.1|P11 P12 2NO+1 48 -150 107.0 157.0 | N4 N14 5#& V-2 vK 100 103.0 161.0
2 -110 1149 149.1 (G12 G2 2NO+1 ¢4 -150 107.0 157.0| P4 P25 5&V -2 5 100 103.0 161.0
#2 -110 1149 149.1 ([F13 F30 INO+2 49 -150 107.0 157.0| R5 R13 5& 103.0 161.0
2 -110 1149 149.1 (K13 K9 INO+2 6 -150 107.0 157.0| D8 D7 5 100 103.0 161.0
v7 -110 1149 1491 (M13 M9 INO+2 ¢4 -150 107.0 157.0|G10 Gl 5 100 103.0 161.0
vK -110 1149 149.1 |E14 E9 2NO+1 &9 -150 107.0 157.0 |K13 K9 103.0 161.0
v4 -110 1149 149.1|L14 L6 2NO+1 ¢4 -150 107.0 157.0 |[M16 M8 5 100 103.0 161.0
#4 -110 1149 149.1|C15 C10 2NO+1 49 -150 107.0 157.0 (P16 P14 5 100 103.0 161.0
v4 -110 1149 149.1|M15 M2 2NO+1 6 -150 107.0 157.0 |R19 R20 103.0 161.0
v4 -110 1149 149.1|Cl6 C2 2NO+1 ¢4 -150 107.0 157.0 |F21 F18 5 100 103.0 161.0
v4 -140 504 213.6 (D16 D2 2NO+1 49 -150 107.0 157.0|F26 F3 5 100 103.0 161.0
v9 -140 504 213.6|M16 M8 2NO+1 8 -150 107.0 157.0| E1 E4 5 50 75.0 189.0
v9 -140 504 213.6|C17 C5 2NO+1 +Q -150 107.0 157.0| K4 K14 vK 50 75.0 189.0
vK -140 504 213.6 (D18 D12 2NO+1 6 -150 107.0 157.0| P6 P15 a5 50 75.0 189.0
v7 -140 504 213.6|F21 F18 2NO+1 &8 -150 107.0 157.0| A7 All 5 50 75.0 189.0
v2 -140 504 213.6|P26 P23 2NO+1 2 -150 107.0 157.0| H7 H1 5 50 75.0 189.0
45 -140 504 213.6 |F27 F14 2NO+1 ¢4 -150 107.0 157.0( 17 I11 a5 50 75.0 189.0
v9 -140 504 2136| 12 110 2NO+2 +6 -180 66.0 198.0| P7 P17 5 50 75.0 189.0
#3 -140 504 2136 Q5 Q6 2NO+2 ¢4 -180 66.0198.0| 19 16 75.0 189.0
v9 -140 504 2136| J7 J1 INO+3 49 -180 66.0 198.0|Ell E7 4 50 75.0 189.0
v9 -140 504 2136| L9 L8 2NO+2 +6 -180 66.0 198.0E13 E5 ¢+A 50 75.0 189.0
v4 -140 504 213.6|Q10 Q1 INO+3 ¢4 -180 66.0 198.0|F13 F30 5 50 75.0 189.0
v4 -140 504 213.6|P13 P5 2NO+2 ¢4 -180 66.0 198.0|C15 C10 vK 50 75.0 189.0
v9 -140 504 213.6|Q13 Q9 2NO+2 &7 -180 66.0 198.0|F15 F17 5 50 75.0 189.0
v9 -140 50.4 213.6 |N15 N10 2NO+2 6 -180 66.0 198.0 |R21 R18 5 50 75.0 189.0
v7 -140 504 213.6(016 02 2NO+2 ¢4 -180 66.0 198.0| F2 F11 &7 -100 57.0 207.0
+8 -140 504 2136(P18 P1 INO+3 &7 -180 66.0 198.0| C3 C11 7 -100 57.0 207.0
#2 -140 504 2136 |R21 R18 2NQO+2 &7 -180 66.0 198.0| R3 R15 5 -100 57.0 207.0
v3 -140 504 2136| A1 A8 3NO= v2 -400 36.0 228.0| C4 Ci4 #A -100 57.0 207.0
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J8 J3 34 0= v9 -140 504 2136| 11 18 3NO= ¢4 400 36.0228.0( P8 P19 24V +1 &5 -110 43.0 221.0
A9 A6 24 O+1 v9 -140 50.4 213.6| M4 M7 3NV= 42 400 36.0228.0( J9 J6 2#V+1l 45 -110 43.0 221.0
J9 J6 24 O+1 ¢3 -140 504 213.6| O4 014 3NO= ¢4 400 36.0228.0| L9 L8 34V= 45 -110 43.0 221.0
K9 K12 24 O+1 v9 -140 504 2136| G5 G6 3NO= ¢4 -400 36.0 228.0( P9 P21 34 V= 5 -110 43.0 221.0
L9 L8 34 0= #4 -140 50.4 2136 | M5 M12 3NO= 48 -400 36.0 228.0 (M11 M1l 3# V= 5 -110 43.0 221.0
R10 R6 34 O= v9 -140 504 213.6| E6 E12 3NO= ¢4  -400 36.0 228.0 (P11 P12 34 V= 45 -110 43.0 221.0
Cl1 C18 34 O= v4 -140 504 2136| O6 Ol 3NO= ¢4  -400 36.0 228.0 (G12 G2 34 V= 5 -110 43.0 221.0
D11 D18 24 V+1 vA -140 504 213.6| H8 H3 3NO= ¢4  -400 36.0228.0(L14 L6 34V= 5 -110 43.0 221.0
Gll G1 34 O= v9 -140 504 2136| H9 H6 3NO= ¢Q -400 36.0 228.0 (D15 D10 3% V= 45 -110 43.0 221.0
F12 F15 24 O+1 &4 -140 504 2136| 19 16 3NO= ¢4  -400 36.0 228.0(Cl16 C2 3#V= 5 -110 43.0 221.0
E13 E3 24 V+1 44 -140 504 213.6|G10 Gl 3NO= 46 -400 36.0228.0( 11 I8 3«V+1l &5 -130 24.0 240.0
Q13 Q8 24 O+1 +8 -140 504 213.6|K10 K1 3NV= 42 400 36.0228.0( J4 J5 3#V+1l a5 -130 24.0 240.0
D14 D3 24 O+1 #2 -140 504 213.6|G11 G7 3NO= 49 400 36.0228.0( N8 N7 24V+2 &5 -130 24.0 240.0
Gl4 G3 34 0= v9 -140 504 213.6|E13 E5 3NO= 5 400 36.0228.0( O8 O7 3#«V+1 v9 -130 24.0 240.0
Q14 Q3 34 0= v4 -140 504 213.6 [N16 N2 3NV= 6 -400 36.02280(F10 F8 3#V+l1 &5 -130 24.0 240.0
M15 M1 24 O+1 v7 -140 50.4 213.6 (018 012 3NO= 49 -400 36.0 228.0(M15 M2 3#V+1 45 -130 24.0 240.0
R18 R19 24 O+1 v9 -140 504 213.6 |F23 F24 3NO = 46 -400 36.0 228.0(C17 C5 44 V= 45 -130 24.0 240.0
F19 F25 24 O+1 +8 -140 50.4 213.6 |P24 P10 3NV = 6 -400 36.0 228.0(D17 D5 2#V+2 &5 -130 24.0 240.0
R22 R8 24 O+1 v9 -140 504 2136 F1 F16 3NO+1 &7 -430 8.0 256.0 |P18 Pl 4& V= v2 -130 24.0 240.0
F28 F8 34 O= 3 -140 504 2136( H4 H5 3NO+1 ¢4 -430 8.0 256.0 F1 F16 6v N-3 7 -300 14.0 250.0
F2 F26 4% S-3 A -150 9.1 2549 N4 N14 3NO+1 ¢6 -430 8.0 256.0| L5 L12 3NO= 47 -400 10.0 254.0
Q4 Q5 3v N-3 T -150 9.1 2549| R5 R13 3NO+1 ¢4 -430 8.0 256.0| A9 A6 34 S-4 #A -400 10.0 254.0
Q9 Q12 34 O+1 v9 -170 4.0 2600 G8 G3 3NO+1 ¢4 -430 8.0 256.0 [N17 N5 3NV = 45 -400 10.0 254.0
G13 G8 34 O+1 #2 -170 402600 A9 A6 3NO+1 &7 -430 8.0 256.0( Q5 Q6 3NO+1 ¢A -430 4.0 260.0
F22 F23 24 O+2 &4 -170 4.0 260.0 |[K12 K2 3NO+1 46 -430 8.0 256.0 |F23 F24 3NO+1 ¥8 -430 4.0 260.0
J4 J5 4vyDN-3 ¢7 -500 0.0 264.0 [N13 N9 3NO+1 ¢Q -430 8.0 256.0 |F27 F14 3NV +1 vQ -430 4.0 260.0
- L11 1085|R22 R9 3NO+1 49 -430 8.0 256.0| D4 D14 34DV= vQ -470 0.0 264.0
- M6 108.3 - L11 108.5 - L11 108.5
15 - 108.8 15 - 108.8 15 - 108.8
N5 - 125.7 - E10 83.7 - E10 83.7
C8 - 162.0 - K7 89.8 - K7 89.8
08 - 143.5 - A4 113.9 - A4 113.9
- K1 1494 - C9 108.7 - C9 108.7
- A4 113.9 - 09 108.8 - 09 108.8
E14 - 129.1 M14 - 144.1 M14 - 144.1
E7 E9 A-/A- 105.6 105.6 |[N18 - 136.9 N18 - 136.9
19 4 EKn Bésta kontrakt 20 s E7 Bésta kontrakt 21 4 ED63 Bésta kontrakt
Syd v EKKn5 2v S =110 Vast vED1074 6NT N = 1440 Nord v K85 INTN =90
(6)) + 1092 Alla + K97 NS ¢+ E84
#Kn982 & ¢ v & NT #EDKn & ¢ v & NT #KDKn & ¢ v & NT
4543  4KD108 N7 8876 4 DKn1086 & K542 N9 6 126 12 4102 & KKn75 N67 777
v1074 »982 S 6 886 6 v- v 65 S 9 6 126 12 v Kn2 vD1043 S6 7777
¢+ K43  ¢865 O6 4465 4843 ¢ DKn652 046171 ¢ KKn952 +6 076555
#ED75 #K104 V644635 #K9863 &54 V46171 210832 #E976 V7666 6
49762 493 4984
v D63 v KKn9832 vE976
¢ EDKn7 + E10 +D1073
#63 #1072 «54
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
A9 A7 3NN= 4T 400 2640 00| A2 Al 6y N+1 Q1460 261.0 3.0(K10 K5 3NS= ¢+2 600 261.0 3.0
E2 E5 24 O-2 6 200 262.0 20| F8 F20 6v N+1 5 1460 261.0 3.0|Q10 Q5 3NN= 45 600 261.0 3.0
C7 C2 INN+3 48 180 2580 6.0|F16 F18 6v N+1 ¢Q 1460 261.0 3.0(M13 M11 3NN= «J 600 261.0 3.0
P10 P22 INN+3 48 180 2580 6.0(N16 N3 6v S+1 Q1460 261.0 3.0(D16 D4 3NS= ¢+2 600 261.0 3.0
F16 F18 INN+3 T 180 2580 6.0| R3 R17 6NS= 40Q 1440 256.0 80| P1 P16 INN+2 45 150 254.0 10.0
N11 N15 2v N+2 &4 170 2540 100| G1 G3 6v S= 4Q 1430 204.0 60.0({C10 C9 INN+2 ¢3 150 254.0 10.0
Jl J4 INN+2 48 150 214.0 50.0| H1 H4 6¥y N= 42 1430 204.0 60.0 (G10 G5 INN+2 45 150 254.0 10.0
K1 K3 INN+2 45 150 2140 50.0| J1 J4 6vy N= #5 1430 204.0 60.0| R4 R18 2NN= v3 120 2430 21.0
R1 R19 2NS+1 &5 150 2140 50.0| Q1 Q3 6vy N= #5 1430 2040 60.0( A6 A4 2NN= v3 120 2430 21.0
A2 Al INN+2 48 150 2140 50.0( R1 R19 6¥ N= 42 1430 2040 60.0( 16 14 INN+1 45 120 243.0 21.0
12 11 2NN+1 48 150 2140 50.0( L2 L12 6v N= v5 1430 204.0 60.0| N8 N3 2NS= T 120 243.0 21.0
E3 E4 INN+2 48 150 2140 50.0| A3 Al10 6v N= v5 1430 204.0 60.0|F12 F10 INN+1 &5 120 2430 21.0
P3 P21 INN+2 T 150 2140 50.0| J3 J10 6v S= 4Q 1430 204.0 60.0 (K12 K3 2NN= 5 120 243.0 21.0
B4 B2 INS+2 &5 150 214.0 50.0| P3 P21 6v N= a4 1430 204.0 60.0(F15 F30 2N N= v3 120 2430 21.0
L4 L9 INN+2 48 150 214.0 50.0| C4 Cl12 6y N= v6 1430 204.0 60.0|R22 R11 INN+1 ¥4 120 2430 21.0
R4 R16 2NN+1 8 150 214.0 50.0| D5 D14 6v N= ¢J 1430 2040 60.0( B2 Bl 14 N+1 ¢4 110 229.0 350
D5 D14 INS+2 &#A 150 214.0 500| J5 J6 6v N= v6 1430 2040 60.0| Q2 Q4 24 N= ¢6 110 229.0 35.0
L5 L11 INS+2 &5 150 214.0 50.0( L5 L11 6v N= +Q 1430 2040 60.0( P4 P22 14 N+1 6 110 229.0 35.0
O5 014 INN+2 «T 150 2140 50.0| M5 M8 6v N= ¢Q 1430 204.0 60.0 (D10 D9 14 N+1 46 110 229.0 35.0
F6 F7 INN+2 48 150 2140 50.0| A6 A4 6v S= 40Q 1430 204.0 60.0(Q13 Q11 14 N+1 ¢6 110 229.0 35.0
Q6 Q7 2NN+1 «T 150 2140 500| G6 G7 6¥y N= v6 1430 2040 60.0|/016 O4 14 N+1 +6 110 229.0 35.0
R6 R14 INS+2 43 150 2140 50.0| 16 14 6y S= 4T 1430 204.0 60.0(R13 R9 2v O-2 5 100 221.0 43.0
D7 D2 INS+2 &5 150 214.0 50.0| K6 K7 6¥ N= ¢0Q 1430 204.0 60.0(R14 R8 2¢ V-2 «K 100 221.0 43.0
O7 02 INS+2 &5 150 2140 50.0| M6 M1 6v N= &5 1430 204.0 60.0( K2 K4 INN= «6 90 213.0 51.0
P7 P16 INN+2 48 150 2140 50.0| Q6 Q7 6v N= 45 1430 2040 60.0f C8 C3 INN= 45 90 213.0 51.0
F8 F20 INN+2 48 150 2140 50.0| C7 C2 6v S= #6 1430 204.0 60.0(Cl1l2 C15 INN= 45 90 213.0 51.0
G9 G4 INS+2 &A 150 2140 50.0| H8 H2 6vy N= v6 1430 204.0 60.0|012 015 INN= 47 90 213.0 51.0
D11 D15 INN+2 T 150 2140 50.0| L8 L7 6v S= 4Q 1430 204.0 60.0 (N13 N11 INN= v4 90 213.0 51.0
011 015 2NN+1 48 150 214.0 50.0| C9 C8 6vy N= ¢0Q 1430 204.0 60.0 (D17 D7 INN= v4 90 213.0 51.0
112 15 INN+2 48 150 2140 50.0| G9 G4 6v S= 20Q 1430 2040 60.0( K7 K8 14 N= +6 80 205.0 59.0
F14 F30 INN+2 &K 150 214.0 50.0| H9 H7 6vy N= ¢Q 1430 204.0 60.0 (N17 N7 14 N= ¢+6 80 205.0 59.0
M14 M4 INN+2 v9 150 2140 50.0| J9 J7 6vy N= v6 1430 204.0 60.0| O8 O3 2NO-1 v6 50 202.0 62.0
P15 P13 INS+2 #A 150 2140 50.0|Cl1l1l C15 6v N= v6 1430 2040 60.0| J1 J4 3NN-1 5 -100 167.0 97.0
Cl6 C3 INN+2 48 150 2140 50.0|Gl1 G2 6v N= v6 1430 204.0 60.0| E2 E7 INN-1 6 -100 167.0 97.0
N16 N3 INN+2 48 150 214.0 50.0 |N11 N15 6v N= &5 1430 204.0 60.0( E3 E6 INN-1 6 -100 167.0 97.0
Cl7 C6 INN+2 T 150 2140 50.0| 112 |15 6¥ N= 42 1430 2040 60.0| H3 H10 3NS-1 +5 -100 167.0 97.0
P17 P1 INN+2 #4 150 2140 50.0|Q12 Q8 6v S= «Q 1430 2040 60.0| B4 B3 3NS-1 +9 -100 167.0 97.0
N18 N1 INN+2 48 150 214.0 50.0|D13 D10 6v N= 45 1430 204.0 60.0 M4 M15 2N N-1 «7 -100 167.0 97.0
R18 R2 INN+2 &4 150 214.0 50.0|K13 K10 6v S= Q1430 2040 600 C5 C1 2NN-1 v3 -100 167.0 97.0
R20 R21 INN+2 ¢8 150 214.0 50.0 |M13 M10 6¥ N= ¢J 1430 2040 60.0( D5 D1 2NN-1 5 -100 167.0 97.0
R22 R10 INN+2 48 150 214.0 50.0|F14 F30 6v S= 4Q 1430 204.0 60.0|f J5 J6 INN-1 &6 -100 167.0 97.0
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50.0 |P15 P13 6v
50.0 (C16 C3 6v
50.0 |D16 D3 6v
50.0 |C17 C6 6v
98.0 [N17 N6 6v
98.0|D18 D1 6v
98.0|018 O1 6v
98.0 [R18 R2 6v
98.0 |[R20 R21 6v
98.0 |[R22 R10 6v
98.0 ([F23 F1 6v
98.0 [F24 F13 6v

a5 1430 204.0 60.0| P5
a4 1430 204.0 60.0| RS
+2 1430 2040 60.0| F7
v6 1430 2040 60.0| Q7
+5 1430 204.0 60.0| R7
4Q 1430 2040 60.0| L8
1430 204.0 60.0| F9
42 1430 204.0 60.0| P9
v6 1430 204.0 60.0 |N10
+8 1430 204.0 60.0 |G12
42 1430 204.0 60.0 |E13
&5 1430 2040 60.0|Cl4
98.0 [P25 P11 6v 42 1430 204.0 60.0|P14
142.0 |P26 P24 6v &5 1430 204.0 60.0 |C16
1420|F29 F5 6v S= & 1430 2040 60.0 |F17
142.0| N9 N8 4vDN+2 ¢Q 1190 152.0 112.0 |017
142.0| O4 012 3NN+4 o5 720 148.0 116.0 |D18
1420 Q9 Q4 3NN+4 2 720 148.0 116.0 |O18
1420 [P17 P1 3NN+4 2 720 148.0 116.0 |P18
142.0| K1 K3 4v N+3 2 710 136.0 128.0 | F22
1420| L3 L14 4v N+3 2 710 136.0 128.0 |F23
1420| B4 B2 4v N+3 5 710 136.0 128.0 |F24
1420| L4 L9 4v N+3 5 710 136.0 128.0 | F26
142.0| P4 P23 4v N+3 &4 710 136.0 128.0 |P26
142.0| R6 R14 4v N+3 42 710 136.0 128.0 | F29
142.0 |E14 E10 4v S+3 46 710 136.0 128.0| G1
1420(N18 N1 4v N+3 +Q 710 136.0 128.0| K1
142.0 |F28 F10 4v N+3 44 710 136.0 128.0| Q1
1420| Bl B3 4v N+2 v6 680  78.0 186.0| A2
1420| El E6 4v S+2 #3 680  78.0 186.0| 12
1420| E2 E5 4vy N+2 ¢Q 680 780 186.0| L2
142.0| F2 F17 4vy N+2 42 680 780 186.0| R2
1420| 12 11 4vy N+2 42 680  78.0 186.0| J3
142.0| F3 F12 4v N+2 44 680 780 186.0| L3
142.0| H3 H10 4v N+2 &5 680  78.0 186.0| E4
1420| R4 R16 4v N+2 v6 680  78.0 186.0| F4
142.0| C5 Cl4 5v S+1 4Q 680 780 186.0| L4
142.0| G5 G14 4vy N+2 +Q 680  78.0 186.0| H5
1420| H5 H6 4v S+2 40 680  78.0 186.0| L5
142.0| K5 K14 5v S+1 4Q 680  78.0 186.0| N5
142.0| N5 N14 4v N+2 +Q 680  78.0 186.0| O5
1420| O5 014 5¢v N+1 +2 680  78.0 186.0| L6
142.0| P5 P12 4vy N+2 ¢Q 680  78.0 186.0| P6
142.0| Q5 Q14 4v N+2 ¢J 680 780 186.0| G7
1420| R5 R15 4v N+2 #5 680  78.0 186.0 | M7
1420| F6 F7 4vy N+2 ¢Q 680  78.0 186.0| A8
142.0| L6 L13 4v N+2 42 680 780 186.0| J8
1420| D7 D2 4v S+2 &0Q 680  78.0 186.0| M8
188.0| E7 E13 4v S+2 &K 680  78.0 186.0| P8
188.0 | M7 M11 4v N+2 ¥5 680  78.0 186.0| A9
188.0| N7 N2 4v N+2 44 680  78.0 186.0| H9
188.0| O7 02 4v N+2 44 680  78.0 186.0| 19
188.0| P7 P16 4vy N+2 +Q 680  78.0 186.0| J9
188.0| A8 A1l 4v N+2 45 680  78.0 186.0 |010
188.0| J8 J2 4v S+2 4J 680  78.0 186.0 |P10
188.0| A9 A7 4v N+2 45 680  78.0 186.0 |R10
188.0| D9 D8 4v N+2 +Q 680  78.0 186.0 |P11
188.0| E9 E11 4v S+2 4Q 680  78.0 186.0 |D12
188.0| K9 K4 4vy N+2 +Q 680  78.0 186.0 | F13
209.0 | MO M16 4v S+2 &J 680  78.0 186.0 |G13
209.0| 09 08 4v N+2 45 680  78.0 186.0 |D14
209.0 |P10 P22 4v N+2 45 680  78.0 186.0 |E14
209.0 |D11 D15 4v N+2 5 680  78.0 186.0 |G1l4
209.0 Q11 Q2 4v S+2 4Q 680  78.0 186.0 |K14
209.0 |G12 G8 4v N+2 45 680  78.0 186.0 |N14
209.0 [M12 M2 4v N+2 +Q 680  78.0 186.0 | F16
209.0 |R12 R8 4v S+2 4Q 680  78.0 186.0 |M16
209.0 [N13 N10 4v N+2 #5 680  78.0 186.0 |N16
209.0 Q13 Q10 4v N+2 +Q 680  78.0 186.0 |C17
2380 |R13 R7 4v N+2 45 680  78.0 186.0 |N18
238.0 |M14 M4 4v N+2 95 680  78.0 186.0 | P20
2380 |D17 D6 4v N+2 &4 680 780 186.0| H1
238.0|017 O6 4v N+2 v6 680  78.0 186.0| G2
238.0|C18 Cl1 4v N+2 &4 680 780 186.0| A3
2380 |P19 P2 4v N+2 +Q 680 780 186.0| F3
2380 |F22 F19 4v S+2 4Q 680  78.0 186.0| M5
2380 |F26 F4 4v N+2 +Q 680  78.0 186.0 | M6

22220 Z2Z220nzZ2z2222

L 1 A O A O T O VO A T
<
I

238.0 011 O15 3NN+2 +2 660 28.0 236.0 | R6
238.0| D4 D12 4v N+1 «4 650 21.0 243.0| D8
238.0| P8 P18 4vy N+1 +2 650 21.0 243.0| H8
2380 19 17 5v N= v2 650 21.0 2430 18
238.0 P9 P20 5v N= 42 650 21.0 243.0 (E10
238.0|016 O3 4v S+1 &4Q 650 21.0 243.0 | F11
238.0 |F27 F15 4v N+1 ¢J 650 21.0 243.0| 112
238.0 |G13 G10 3NN+1 +5 630 13.0 251.0 |Q12
238.0|P14 P6 3NN+1 ¢Q 630 13.0 251.0 (D13
238.0|F21 F25 2NN+5 ¢Q 270 10.0 254.0 |0O14
238.0| E3 E4 2NN+2 «2 180 8.0 256.0 | P15
260.0| I8 111 7+ S-1 «Q -100 3.0 261.0|C18
260.0 R9 R11 7v S-1 «Q -100 3.0 261.0 |R19
260.0 ([F11 F9 6v N-1 +Q -100 3.0 261.0 |Q14
264.0 |K12 K8 7v N-1 5 -100 3.0 261.0 |R21
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- 110 132.8 - 110 132.8| M1 - 171.8
- M15 103.7 - M15 103.7 - 110 132.8
N4 - 133.4 N4 - 133.4 - El 149.7
L10 - 112.4 L10 - 112.4 L10 - 112.4
- K2 137.2 - K2 137.2 - A5 1155
- A5 115.5 - A5 115.5 - N15 1214
E12 - 161.2 E12 - 161.2 - Cl11 160.3
- C10 166.9 - C10 166.9 | K13 - 129.9
- 010 94.8 - 010 94.8 - 011 122.7
22 4 8653 Basta kontrakt 23 4 K8 Basta kontrakt 24 4 K10764 Basta kontrakt
Ost v98 5NT O =-660 Syd v732 5¢ SD-2-500 Vast v43 2¢ V =-90
ov + 8643 Alla + K109532 Ingen + K4
#E93 & ¢ v & NT +D9 & ¢ v & NT #D963 & ¢ v & NT
41092 & EKD N2 26 32 410932 « ED654 N29 912 482 « EKn953 N7 5566
vD75 vK2 S22632 v Kn5 v 98 S29912 vE107 v KKn82 S75565
¢ K107 ¢ EDKn2 O 11117 1011 ¢+ Kn + D84 O 101 1 104 ¢ DKn652 ¢ 103 058777
#KKn65 #D872 V 11117 1011 #K107653 #E84 vV 101 1 104 #Kn85 #K10 V58777
4 Kn74 & Kn7 4D
v EKn10643 v EKD1064 v D965
495 +E76 + E987
«104 #Kn2 *E742
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
K7 K8 3NO-2 vyT 200 2620 2.0| P9 P18 4v S+2 +J 680 2640 00| H4 H1I0 24aDO-2 7 300 2620 20
Q12 Q3 3NO-2 vJ 200 2620 20| P2 P17 4vy S+1 42 650 2620 2.0|P12 P24 2¢DV-2 ¥4 300 2620 2.0
F24 F2 3NO-2 vT 200 2620 2.0| H6 H7 4y N= ¢4 620 259.0 50(R15 R9 3vyDO-2 4Q 300 2620 20
B2 Bl 6NO-1 vA 100 253.0 11.0|R20 R4 4y S= ¢+J 620 259.0 5.0 L7 L14 3vO-4 #A 200 257.0 7.0
R7 R15 6NV -1 #A 100 253.0 110| K1 K4 3NN= 4 600 256.0 80(Cl4 C7 3vO-4 «Q 200 2570 7.0
J9 J8 3NO-1 vJ 100 253.0 11.0|G14 G7 44DO-1 vA 200 2540 100| B2 Bl 2NV-3 ¢4 150 249.0 15.0
K10 K5 3NO-1 vJ 100 253.0 11.0| P7 P14 3v S+1 +J 170 2520 120 G3 G5 2NN+1 43 150 249.0 15.0
F15 F30 3NO-1 vJ 100 253.0 11.0| N5 N16 2¢v S+1 ¢J 140 2410 23.0( A7 A5 2vO-3 ¢A 150 249.0 15.0
F16 F27 3NO-1 v3 100 253.0 11.0| R6 R18 3¥ N= ¢J 140 2410 23.0(Fl16 F30 2v O-3 ¢A 150 249.0 15.0
F4 F1 3¢ V+1 &A -130 246.0 180| 17 I5 2¢ S+1 ¢J 140 2410 23.0|F24 F21 INN+2 ¥2 150 249.0 15.0
E14 E11 3v S-3 46 -150 2440 200( D9 D4 3v S= 49 140 2410 23.0(F29 F7 3NV-3 6 150 249.0 15.0
F9 F21 2NO+2 vA -180 242.0 22.0|D11 D10 3v S= T 140 2410 23.0( Q1 Q4 3#N-= T 110 238.0 26.0
B4 B3 2NO+3 vJ -210 240.0 24.0 (P12 P24 3v S= T 140 2410 23.0( E5 E6 3#N-= T 110 238.0 26.0
R10 R12 5# O = vA -600 237.0 27.0(N14 N7 3v S= ¢J 140 2410 23.0( 17 I5 2#N+1 #A 110 238.0 26.0
D16 D4 3NO= vT -600 2370 27.0|F16 F30 2v S+1 #6 140 241.0 23.0 (D11 D10 3# N= v8 110 238.0 26.0
G2 G4 3NO+1 ¢5 -630 229.0 35.0(P16 P8 3v S= T 140 2410 23.0(K14 K7 3« N= 4A 110 238.0 26.0
H4 H10 3NO+1 ¢J -630 229.0 350|018 O3 3v S= T 140 2410 230 E1 E10 INV-2 3 100 216.0 48.0
D5 D1 3NO+1 T -630 229.0 350| A4 A10 2v S= ¢J 110 227.0 37.0| G2 G10 2v O-2 #A 100 216.0 48.0
L5 L10 3BNO+1 T -630 229.0 35.0| L6 L12 2v S= +J 110 227.0 370 F5 F2 34 O-2 v3 100 216.0 48.0
17 15 3BNO+1 v6 -630 229.0 35.0| O6 02 2v S= +J 110 2270 37.0| D6 D2 1INV-2 6 100 216.0 48.0
N17 N7 3NO+1 v4 -630 229.0 350 (F26 F6 2v S= ¢J 110 2270 37.0| H6 H7 3¢ V-2 v3 100 216.0 48.0
Al A1l 3NO+2 v4 -660 118.0 146.0| F1 F11 44 O-1 vA 100 218.0 46.0| P7 P14 3v O-2 2 100 216.0 48.0
Gl G9 3NO+2 T -660 118.0 146.0( K3 K5 34 O-1 vA 100 2180 46.0| F8 F9 34 O-2 #A 100 216.0 48.0
H1 H3 3NO+2 «T -660 118.0 146. E4 E7 44 O-1 vA 100 2180 46.0| G8 G9 24 O-2 ¢+A 100 216.0 48.0
11 111 3NO+2 ¥3 -660 118.0 146.0 |F12 F28 44 O-1 vA 100 2180 46.0| D9 D4 2v O-2 «Q 100 216.0 48.0
J1 J3 3NO+2 vJ -660 118.0 146.0|K14 K7 34 O-1 vA 100 2180 46.0| P9 P18 3v O-2 «Q 100 216.0 48.0
K1 K9 3NO+2 v9 -660 118.0 146.0| E1 E10 3v S-1 +J -100 178.0 86.0 (E11 E13 24 O-2 ¢+A 100 216.0 48.0
P1 P16 3BNO+2 T -660 118.0 146.0 H1 H3 3v S-1 4T -100 178.0 86.0 (011 O10 3v O-2 «Q 100 216.0 48.0
Q1L Q9 3NO+2 v6 -660 118.0 146.0| 11 111 4v S-1 ¢J -100 178.0 86.0 Q11 Q6 3v O-2 «Q 100 216.0 48.0
E2 E7 3NO+2 vA -660 118.0 146.0| Q1 Q4 4v S-1 T -100 178.0 86.0 |R11 R13 24 O-2 «Q 100 216.0 48.0
H2 H5 3NO+2 T -660 118.0 146.0| R1 R2 4v S-1 +J -100 178.0 86.0 Q14 Q7 14aDO-1 ¢A 100 216.0 48.0
J2 J5 3NO+2 vJ -660 118.0 146.0| B2 Bl 3v S-1 +J -100 178.0 86.0 (P16 P8 2v O-2 «Q 100 216.0 48.0
K2 K4 3NO+2 v6 -660 118.0 146.0| G2 G10 3v S-1 3 -100 178.0 86.0 (018 O3 2v O-2 ¢+A 100 216.0 48.0
Q2 Q4 3NO+2 3 -660 118.0 146.0( H2 H5 4v S-1 +J -100 178.0 86.0| Q8 Q9 INN= 43 90 197.0 67.0
A3 A2 3NO+2 44 -660 118.0 146.0| G3 G5 4v S-1 ¢J -100 178.0 86.0(P15 Pl 2&N-= 43 90 197.0 67.0
E3 E6 3NO+2 T -660 118.0 146.0| R3 R21 3NN-1 v8 -100 178.0 86.0| F1 F11 2v O-1 ¢A 50 158.0 106.0
F3 F18 3NO+2 ¢J -660 118.0 146.0| L4 L8 3v S-1 +J -100 178.0 86.0 H1I H3 24 O-1 v6 50 158.0 106.0
L3 L13 3NO+2 vA -660 118.0 146.0| D5 D16 3v S-1 ¢J -100 178.0 86.0( K1 K4 INV-1 #3 50 158.0 106.0
A4 A10 3NO+2 &T -660 118.0 146.0| O5 016 4v S-1 42 -100 1780 86.0| R1 R2 1INV-1 #6 50 158.0 106.0
J4 J10 3NO+2 v6 -660 118.0 146.0| J6 J7 3v S-1 43 -100 178.0 86.0f H2 H5 24 O-1 ¢A 50 158.0 106.0
L4 L8 3NO+2 v6 -660 118.0 146.0| P6 P25 3v S-1 +J -100 178.0 86.0( J2 J5 3NO-1 2 50 158.0 106.0
M4 M15 3NO+2 vA -660 118.0 146.0| G8 G9 4v S-1 +J -100 178.0 86.0( Q2 Q10 3v O-1 «A 50 158.0 106.0
P4 P22 3NO+2 44 -660 118.0 146.0| K8 K9 3v S-1 +J -100 178.0 86.0| L3 L13 24 O-1 #A 50 158.0 106.0
R4 R18 3NO+2 ¢J -660 118.0 1460 E9 E2 3v S-1 ¢+J -100 178.0 86.0( Q3 Q5 2v O-1 «Q 50 158.0 106.0
C5 C1 3NV+2 48 -660 118.0 146.0|F10 F22 3v S-1 T -100 178.0 86.0 R3 R21 2¢ V-1 v3 50 158.0 106.0
M5 M14 3NO+2 ¢T -660 118.0 146.0 |C1l1l C10 4v S-1 +J -100 178.0 86.0| J4 J10 INV-1 #3 50 158.0 106.0
N5 N1 3NO+2 3 -660 118.0 146.0 [E11 E13 3v S-1 ¢+J -100 178.0 86.0( L5 L10 2v O-1 «Q 50 158.0 106.0
O5 O1 3NO+2 «T -660 118.0 146.0 (O11 O10 3v S-1 +J -100 178.0 86.0( O5 016 2v O-1 «Q 50 158.0 106.0
P5 P24 3NO+2 T -660 118.0 146.0 (P11 P22 3v S-1 4T -100 178.0 86.0f C6 C2 3v O-1 «A 50 158.0 106.0
R5 R17 3NO+2 T -660 118.0 146.0 |[R11 R13 44 N-1 A -100 178.0 86.0 M6 M14 24 O-1 «Q 50 158.0 106.0
H6 H7 3NO+2 +J -660 118.0 146.0 [M13 M12 4v S-1 +J -100 178.0 86.0| R7 R17 2NV -1 #6 50 158.0 106.0
16 112 3NO+2 vJ -660 118.0 146.0|P13 P26 3v S-1 +J -100 178.0 86.0| A9 A8 24 O-1 ¢A 50 158.0 106.0
J6 J7 3NO+2 vJ -660 118.0 146.0|E14 E12 4v S-1 ¢J -100 178.0 86.0( 19 I8 24 O-1 «A 50 158.0 106.0
L6 L12 3NO+2 3 -660 118.0 146.0|D15 D1 4v S-1 +J -100 178.0 86.0( J9 J8 INV-1 #3 50 158.0 106.0
M6 M9 3NO+2 6 -660 118.0 146.0|R15 R9 3v S-1 ¢J -100 178.0 86.0| N9 N4 1INV-1 #3 50 158.0 106.0
P6 P13 3NO+2 T -660 118.0 146.0 [N17 N8 4v S-1 5 -100 178.0 86.0f O9 04 24 O-1 ¢A 50 158.0 106.0
R6 R16 3NO+2 T -660 118.0 146.0 |F18 F20 3v S-1 +J -100 178.0 86.0 (F10 F22 2v O-1 «A 50 158.0 106.0
A7 A5 3NO+2 v4 -660 118.0 146.0 |N18 N3 4v S-1 +J -100 178.0 86.0 (P10 P20 1INV-1 6 50 158.0 106.0
F7 F8 3NO+2 &4 -660 118.0 146.0 (P21 P4 4v S-1 T -100 178.0 86.0(C11 C10 24 O-1 7 50 158.0 106.0
G7 G8 3NO+2 T -660 118.0 146.0 (F24 F21 4v S-1 +J -100 178.0 86.0 (N11 N10 2v O-1 «Q 50 158.0 106.0
L7 L14 3NO+2 vJ -660 118.0 146.0|F29 F7 4v S-1 T -100 178.0 86.0|F12 F28 1INV-1 #3 50 158.0 106.0
M7 M2 3NO+2 7 -660 118.0 146.0| L3 L13 34 O= vK -140 138.0 126.0 |F14 F15 24 O-1 «Q 50 158.0 106.0
C8 C3 3NO+2 ¢T -660 118.0 146.0| 14 110 24 O+1 vA -140 138.0 126.0 [N14 N7 1INV-1 4 50 158.0 106.0
D8 D3 3NO+2 ¥4 -660 118.0 146.0 Q13 Q12 24 O+1 vA -140 138.0 126.0 |M15 M5 24 O-1 v8 50 158.0 106.0
M8 M12 3NO+2 vJ -660 118.0 146.0|014 O7 34 O= vA -140 138.0 126.0|015 O1 INV-1 6 50 158.0 106.0
N8 N3 3NO+2 vJ -660 118.0 146.0 (C15 C1 34 O= vA -140 138.0 126.0|017 08 24 O-1 +9 50 158.0 106.0
08 O3 3NO+2 v6 -660 118.0 146.0( J2 J5 34 O+1 ¢K -170 125.0 139.0|C18 C3 3v O-1 «Q 50 158.0 106.0
P8 P17 3NO+2 vJ -660 118.0 146.0| Q2 Q10 34 O+1 vA -170 125.0 139.0|P19 P3 2vO-1 «A 50 158.0 106.0
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